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The following table presents the number of sports shoes produced by seven different companies A-
G (in lakh) along with the percentage (%) of sports shoes rejected and percentage (%) of sports
shoes sold by these companies during the years 2022 and 2023. Based on the data in the table,
answer the questions that follow.

Company-wise details of sports shoes

Year 2022 Year 2023
Company | Number |Rejected| Sold | Number | Rejected | Sold

(n lakh) (%) (%) |(inlakh)| (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 2 76
5 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 31 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 53307211271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the production of sports shoes by company C from the year 2022 to
2023 ?

(1) 15375 %
(2) 20.625 %
(3) 15625 %
(4) 10.625 %
Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307211272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the sale of sports shoes by company F from the year 2022 to 2023 ?
(1) 12 %

(2) 25 %

(3) 15 %

(4) 20 %

Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307211273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the total number of rejected sports shoes from all the companies together in year 2022 ?
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307211274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Total number of sports shoes sold by all companies in year 2023 is approximately % of
the total number of sports shoes produced by all the companies in that year.
(1) 84

(2) 79

(3) 72

4) 75

Options :

1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307211275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Percentage rise in the production of sports shoes from the year 2022 to 2023 is more than 25 % for
exactlly _ companies.

e,
2)
()
4)
Options :
1.1

2.2

3.3

4.4

Ul o= W R

Question Id : 53307211270 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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e arferert # | =1 ufi (A-G) gR1 = 2022 9 99 2023 § Seifed @l & Sl 1 S (A W),
LR W & Sl o1 favra i Safal R o T Ee 3 Sl o 9fae (%) fomn man g1 aifes § uew e
% SR W, AN F WA F I Sl |

e & el R shuAT-are faeror
ay 2022 aef 2023
P FE=T |ardled| Rt | I |ardleal (it

(Fra#A)|[ (%) (%) (=) | (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 3 76
¢ 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 53307211271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUA C g ad 2022 ¥ 2023 H Ierfed @a % S W ufowd afg fead &2
(1) 15375 %
(2) 20625 %
(3) 15.625 %
(4) 10625 %
Options :
1.1
2.2

3.3
4.4

Question Number : 2 Question Id : 53307211272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FU F g o9 2022 ¥ 2023 B o9 T WA F 5l § foFer wfove Ifg g ®7?
1 12%

(2 25%

(B) 15 %
(@4) 20 %
Options :
1.1

2.2

3.3
4.4

Question Number : 3 Question Id : 53307211273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ad 2022 # 9t Fufai T T STeeiFa Be F Sal B o e fhal § 72
(1) 835000

(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307211274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

guft Fufal grn ad 2023 # faskt fFre U B@ F 6 F T g 35 g9 § 9 wufral g senfea

oA F el 1 FHe WS FHI TR % B
(1) 84
2 79
(@) 72
(4) 75
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307211275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 2022 | 2023 H A F 9di o 3 ¥ g8 ulave gig StF-Si FYfTdi o e 25 % 9
e 2
1 2
(2 3
@) 4
(4) 3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072444
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307211276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To teach a particular topic a teacher first gives the students to watch the pre-recorded video of the
lecture at home and then engages the students in discussions and pmblem solving achvities in the
class. This is an example of :

(1) Lecture-demonstration
(2) Flipped classroom
(3) Asynchronous learning
(4) Synchronous learning
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 53307211276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forere wa fafore fawg & oo & fom faenfe=i = samem ged gd # fere fFu o sifed ea | w
o o fore 3 ® 3 3Hek ag e | Feiel au Sue- g iatatdl § Sifod s 1 98 fege
e IR0 & ?

(1) =rEA freeE

(2) el e (fHeTe Fae ®H)

(3) THEHICTE AfRTH

(4) HEFIfCTh e

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 53307211277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component of Baddeley’s basic working memory model is involved in the task of Rapid
repetition of the word like “See-Saw” ?
(1) Visuospatial sketchpad

(2) Bounded rationality

(3) Phonological loop

(4) Meta-cognition

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 53307211277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-1 (See-Saw) ST Feg T asil § TG o F14 H Sl F SNURYT FEAWF Wi qiee F1 HHE
Hees ofae &7
(1) Tagsidifyae et
(2) YEs Figarea
(3) w@HmF oM
(4) AT (HEEHRTAYA )
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 53307211278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants his students to watch pre-recorded videos and answer questions embedded in the
videos. Which tool would be most suitable for this purpose ?

(1) Edpuzzle
(2) Evernote

(3) Google Docs
(4) Strawpoll
Options :

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 53307211278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ue T =medn © T suer faened gd # et foru o difed o1 3@ @i sifedl # wf=fea wei & s <
39 WA % T S ST (26) Halfeen 399 8 ?

(1) TEUSA

2 TR

(3) T ST

(4) I

-

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 53307211279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - 11
(Swayamprabha Channel No.) (Name)
(A) Channel : 04 (I) Kautilya
(B) Channel : 05 (I Vidhik
(C) Channel : 06 (Il) Prabandhan
(D) Channel : 07 (IV) Saaraswat

Choose the correct answer from the options given below :
(1) (A)-(L), (B)-(1I), (C)-(IV), (D)-()

(2 (A)-(IV), (B)-(III), (C)-(II), (D)-(T)

(3)  (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

4 (A)-(1I), (B)-(IV), (O)-(I), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307211279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hel-1 9 gHi-11 =1 fers wifs
Hel-1 -1
( TETWT B HWEAT) (7))
(A) = : 04 () ifeea
(B) oA : 05 () Tafues
(C) = : 06 (III) TaeA
(D) =7 : 07 (IV) IR

= feu T fomredi H @ W@ I =9 HIfN
(1) (A, (B)1D), (©)-IV), (D)-(I)
(2)  (AIV), (B)~(LIL), (C)-(LD), (D)-(I)
(3)  (AD, (B)-1D), (C)-(Im), (D)-(IV)
(@) (A1, B)-1V), (O)-1), (D))
Options :
1.1
2.2

3.3
4.4

Question Number : 10 Question Id : 53307211280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/122
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An instructor uses portfolio assessments in an art class. What key components should be included
in the students’ portfolios ?

(A) Collection of completed art works

(B) Reflective essays on their creative process
(C) Standardized test scores

(D) Peer feedback and critiques

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (A)and (C) Only

(4) (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 53307211280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST el &1 oherl H dSwiferd geais 1 wga o &1 faenfef & aieferi # fr ger gew
1 wfewfera fan ST Ay 2

(A) YUl FHeTRiaAl 1 GUE

(B) SeR! HorTcHe Wiehdl W fHamefial faiy
(C) WA qL401 ek

(D) TEReft ot gfagfie sit Enme=Ad

= feu o faspedi § 9 WaE W F =TI FIAC
(1) o (B) 3T (C)

(2) % (A), (B) #R (D)

(3) I (A) ¥R (O)

(4) A4 (C) ¥ (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307211281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on Plagiarism, which of the following percentages of similarity
in a research article would result in debarring a university teacher from supervising a PhD. Student
for a period of two years ?

1 27%
(2) 38 %
() 44 %
(4) 65 %
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307211281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wifeferss = o o) #9579, faf=ae 2018 o @R fofdl oy g § gamd & fora wfasrd o o
< 99 =i @ty o forg f.w= S, foeneft & vdasmo & favafasmera & fes =i Sfaa fear smam ?

(1) 27 gfqerd
(2) 38 wfqerd
(3) 44 gfaer
(4) 65 gfaemE

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307211282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful in showing
association between two variables ?
(1) Ogive

(2) Pie charts

(3) Histogram

(4) Scatter plots

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307211282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 10/122



8/30/24, 11:12 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

frfafaa & & et fafy g % crafate fEgw & foau @ =@ % 9= g6y g9 % fau sagef e ?
(1) =rafeervl (&irsiea)

(2) €A

(3) e fae (fewnm)

(4) TomRvl UM (The wied)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307211283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to internal validity.

(A) Selection threat

(B) Maturation threat

(C) Attrition threat

(D) Testing threat

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (O) and (D) Only

(3) (A), (©) and (D) Only

) (A), (B), (© and (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307211283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

siidfees e 3 wf @l i gEaE Fh
(A) =99 Hadfi TR (FaaE 92)

(B) UftvgE et Tl (FegieH 92)

(C) Heu Fae T (Tfeed 9°)

(D) Tfteor Heidlt way (=T 92)

= feu o fased § 9 W& W FH =TI FIGC
(1) =€ (A), (B) 3R ()

(2) = (B), (C) =R (D)

(3) = (A), (C) ¥R (D)

4)  (A), (B), (O) 3R (D)

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 11/122
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1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 53307211284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the datasets with the following means (% ) and standard deviations(o) in decreasing
order of their coefficients of variation.

(A) o0=43, X =138

(B) o0=38, x =127

(C) o=57 x =149

(D) o=4.7, x =14.1

Choose the correct answer from the options given below :
(1) (A). B), (C), (D)

(2)  (B), (O), (D), (A)

(@) (©), (D), (A) (B)

(4) (D), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307211284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<q TRl &I frefafea meEt () S wFE famer (o) % @ 31E fo=wor qoiE % Hed wW § Fatted
Fifer
(A) o=43, ¥ =13.8
(B) ¢=3.8, x =12.7
(C) ¢=57 X
(D) o=4.7, X =14.1
A= fou o fased § 9 W& W FH T FIGC
(1) (A) (B), (O, (D)
2 @), (O, (D) (A)
(@) (©, (D), (A) (B)
@) (D) (A) (B), ©
Options :
1.1
2.2

3.3
4.4

=14.9

Question Number : 15 Question Id : 53307211285 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/122
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Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Scale of Measurement) (Example of Variable)
(A) Nominal (I)  Height of students
(B) Ordinal () Time of Day
(C) Interval (II) Caste
(D) Ratio (IV) Rank of Army personnel

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©O)-(1V), (D)-1)

(3)  (A)-(L), (B)-(1V), (C)-(1L), (D)-()

4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307211285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 GE-11 =1 THe i

i1 -1

(\Ta T Y ) (= T QT )
(A) e (FAfETe) () feenfeE it oo
(B) HAgTE (HAMET) () fea =1 w7
(C) 3T (1) =ifa
(D) &I (IV) H=rHl =i I

A=t feu T foepedi H 9§ W& I =4 HIW
(1) (A1), (B}-(IT), (CO)~(II), (D)-(IV)
(2) (AL, (B)-(1D), (C)-1V), (D))
(3)  (A)-(I), (B)-(IV), (O)(ID), (D)-(I)
(4) (A1), (B)-(D), (C)-(I), (D)-(I1)
Options :
1.1
2.2

3.3
4.4

Question Number : 16 Question Id : 53307211286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/122
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The major difference between Television and Cinema is :
(I) Eye movement

(2) Sound reverberation

(3) Bandwidth

(4) Liveness differential

Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307211286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeAtfarer ofr o § g s = 2
(1) 9 g=e

(2 =M SFIE

(3) e ek (s fagy)

(4) Sidaa fadew

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307211287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to David Holmes, the textual or behavioural qualities of communication are determined
by the architecture of the particular -
(1) Medium

(2) Message

(3) Noise

(4) Ideology

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 53307211287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sfoe &9 o SER, TR ge-fauge a1 SHaer e quermed # fafe 1 Gl
(enfeheaaR) § ffor o s €1
(1) Heam

(2) W

(3) W

(4) fEa=mEm

Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307211288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The medium of Internet is described as :
(A) Restricted possibility

(B) Unimpressive theology

(C) Universalist

(D) Redemptive

(E) Electronic assembly

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(@ (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (B), (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 53307211288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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222 °F WY o fRg w9 ° 9viF forar s © 2
(A) wfasfea Fyrera

(B) STHWTERE YHfag™
(C) wrEYdmarT

(D) far=®

(B) seraRiieh WS

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) = (A), (B), (C)
(2) = (B), (O), (D)
(3) %= (C), (D), (E)
(4) A (A), (B), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 19 Question Id : 53307211289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following modes of communication :
(A) Written

(B) Face-to-face

(C) Print

(D) Broadcasting

(E) Datacasting

Choose the correct answer from the options given below :
1) (A), (©), B), (), D)

(2 (B),(A) ©), D) (B)

(3)  (©). (D), (E), (A), (B)

4) (D), (B), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 53307211289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g o frfatad Ml & HE T HE Sl Ted FHife ;
(A) fafaa

(B) SHA-HIHA
(C) H="
(D) WERO
(E) SerehIfa

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) (A) (Q), (B), (E). (D)
(2) (B (A) (C) (D), (E)
3 ©, (E), (A), (B)
4) O (E) (A), (B), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 53307211290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Concept) (Description)
(A) Closed text (I)  Verbal expressions
(B) Principle of safety (II) Basic rhetorical structure
(C) Orality (ITI) A text to elicit a single response
(D) Cluster (IV) Avoidance of risk

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©)-(1V), (D)-1)

(3)  (A)-(LD), (B)-(IV), (C)-(L), (D)-(II)

4)  (A)-(IV), (B)-(I), (C)-(IL), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307211290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Teit-1 9 -1 =1 fies i
Teil-1 Tt-11
( ST ) (Fuia)
(A) TgH TS (1) g sfveafaaal
(B) Htem waHt fagia (I) T STEHRIE G
(C) HifiEswa (III) Teel =1feRaT 9Te A o foa ore
(D) HE (FF=) (IV) SifEd | ==

= feu T fomredl H ¥ W@ I A =9 FIW
(1) (AND, (B-(I), (O, (D)-(IV)
(@ (A)-W, B-, ©-1V), D)
(3) (A1), BHIV), (O-D, 1)
(4)  (A)IV), (B)-(1), (C)-(IL), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 21 Question Id : 53307211291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the value of the expression :

(0.12x 0.12x0.12)+(0.012x0.012x0.012)
(0.48x0.48x0.48)+(0.048x0.048x0.048)

: 1
M 15
1
@ 3
(3) 4
1
@ =
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307211291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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(0.12 % 0.12 x 0.12) + (0.012 x 0.012 X 0.012)
(048 0,48 0.48) + (0.048 X 0,048 x 0,048) 1 17 31 PITSIC

T
T
& <
@) 4
T

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307211292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the series given below. Find the number which can be inserted at the place of question

mark (7).
5, 14, 39, 88, 209, 7, 667
(1) 378
(2) 297
(3) 299
(4) 375
Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307211292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= & T 9ol W fo=Er Fifew | w9 fag % e W e wenfg sk S Srel 9E J19 S
5, 14, 39, 88, 209, ?, 667

(1) 378
(2) 297
(3) 299
(4) 375
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307211293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is/are true ?
(A) If the selling price (SP) of an article is ¥ 40 and the gain is 15 %, the cost price (CP) of the
article is ¥ 32

(B) A man bought a toy for ¥ 150 and sold it at a profit of § %. He sold the toy for ¥ 162

(C) A man buys a cycle for ¥ 500, but due to some problem, he sells it for ¥ 400. He thus incurs
a loss of 22 %

(D) Cost price of an article, if its SP is ¥ 210 and the loss is 30 %, is ¥ 300.
Choose the correct answer from the options given below :

(1) (A) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 23 Question Id : 53307211293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefarfaa # & #m ar/8 g g/E?

(A) Afg forHT =reg o1 fasha qed T 40 § ALY 15 % &, 1 o5 o1 @R Jed T 32§

(B) U&=l A T 150 1 Uk FEgeiia1 Eliel 3K 39 8 % HAF W o= | 394 faein #1 T 162 # o=

(C) T =Afa T500 H Uk Wrefohel Weal €, W el 0w & FR0 9% 39 T 400 H 9=l €, 3H YER
W 22 % B A €

(D) afe fordt areg =1 forrg Heg T 210 TR =1 30 % & o 39 =% o1 @Fd 464 T 300 &

v feu o faredi § 9 WE I 1 =TI FIfSU

(1) e (A)

(2) FEA (A) 3R (D)
(3) ae (B) 3N (D)
(4) = (B) 3 (O)
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307211294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain code language :

“Bitter patience sweet fruit” is coded as : “Bo Po So To”

“Art is sweet happiness” is coded as : “Ao Io So Ho”
“Hoping is concealing bitter” is coded as : “Hp lo Co Bo”
“Patience is art of hoping” is coded as : “Po lo Ao Fo Hp”
How “Patience is happiness” will be coded in this language ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307211294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eaeil HE HHT -

“Bitter patience sweet fruit” %! “Bo Po So To” % ®4 H Feds foran 2
“Art is sweet happiness” %! “Ao lo So Ho” & €9 H Feag e S ¥
“Hoping is concealing bitter” =l “Hp Io Co Bo” eI ETCEACRIRSIG] g
“Patience is art of hoping” %l “Po Io Ao Fo Hp” % ®9 ¥ Fedsg foham S ©
9 991 § “Patience is happiness” I fod YR Feag fhan smam ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307211295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A man invests ¥ 1550 in two parts, one part at the rate of 8 % interest and another part at the rate
of 6%. If the total interest earned in one year is ¥ 106, find the amount invested at each rate of
interest, respectively.

(1) % 650 and T 900
(2) % 700 and ¥ 850
(3) % 750 and T 800
(4) % 800 and T 750
Options :

1.1

2.2

3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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4.4

Question Number : 25 Question Id : 53307211295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A T 1550 1 1 T H 791 SR €, Ul ST 8 % 1 S R AR g 9T H 6% H W W AfS
ue T H erfsta foram T e = T 106 ® O WS o W FA9: e 5 g afer 3 Fwifew

(1) % 650 3 T 900

(2) T 700 3T 850

(3) ¥ 750 3R T 800

(4) T 800 3R T 750
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307211296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“If one eats mushrooms after a long gap of time, one falls ill. I have been having some digestive
issues since morning today, therefore there must have been mushroom in that mixed vegetable
soup we had last night” which fallacy, if any, committed in the above argument ?

(1) Itisa valid argument

(2) Affirming the consequent

(3) Hasty Generalization

(4) Begging the question

Options :

1.1

2.2

3.3

4.4

Question Number : 26 Question Id : 53307211296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofe 1 =afaq OH9 & UF o a0 F 91E HIET F1 Y9 Fal § 9§69 9 ¢ HiE F oA
Tt B e Heiel T o g 9 @ T, safau s ufs # faw e ffya afsei % gu i e @
BT | 39 g H, Afg 1S o, foRan T <9 i € 7

(1) TETH Y g ©

(2) Fd 9 fauE

(3)  fa=nia |mr=ieR

(4) ST 9

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 53307211297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are squares” is given as true then which of the following statements
can be inferred to be false.

(A) All rectangles are squares

(B) Some rectangles are not squares

(C) Some squares are not rectangles

(D) No rectangles are squares

Choose the correct answer from the options given below :
(I) (B), (C) and (D) Only

(2) (D) Only

(3) (B) and (C) Only

) (A), (B), (©) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 53307211297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af FYF-'Fo o9 a9 €, # I & ' ° foan w0 € @ frefafea § 9 59 s o ome F e A
ST feran S Sehan 8 2

(A) W|eft st o €

(B) F® oHd = Tl €

(C) F = 31a T &

(D) oI Sft Ta o 7 §

99 fou o fosredi O 9 W& I F F5H AU
(1) = (B), (C) ¥t (D)

(2) =4 (D)

(3) I (B) 3R (O)

4)  (A), (B), (C) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 53307211298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following propositions are contradictory ?
(A) All squares are rectangles

(B) No squares are rectangles

(C) Some squares are rectangles

(D) Some squares are not rectangles

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 53307211298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas & | S afasfear s €2
(A) | o 37 €

(B) HIE off I Iyad AL ¥ |

(C) FS o aaa g |

(D) FS I A Tal & |
= fou e fasredi © 9 WE I H 95 FIfAT
(1) e (C) &R (D)
(2) O (A) (D)
(3) eI (B) 3R (D)
(4) FE (A) 3R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307211299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the propositions that are logically equivalent .
(A) Some books are novels

(B) Some books are not non-novels

(C) Some novels are not non-books

(D) Some novels are books

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (A)and (C) Only

(4) (A), (B), (C) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 53307211299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea # 9 =7 wfasfad # Te=am Ffee s afds T 9 goaed € 2
(A) FS T STIH T

(B) F® Y& -39 TEl € |

(C) F9 3T=E - T2l |

(D) FS 3TH THF & |

= feu o faeredi § | W& T T2 FHET

(1) == (O) R (D)

(2) A (A) (D)

(3) A (A) 3R (C)

(4)  (A), (B), (O) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307211300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Somdutta who is never seen eating during the day time is constantly gaining weight. Therefore,
she must be eating during the night time”. As per classical Indian philosophy which instrument of
knowledge is used in the above statement ?

(1) Perception

(2) Analogy

(3)  Verbal authority

(4) Postulation

Options :
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1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307211300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 o Tug A el off WrE T e S T S o YR A W w1 | 39, 58 U 3 9ee
WA 3 T8l 2R 1" I RS 99 % ST99R SWiE &y § 39 F fg anm o uge e e g ?

(1) oy diy
(2) 39
(3) 9IeE 9HIO
(4) 9
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307211301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that displays unwanted or sometimes irritating pop-up
advertisements which can appear on your computer or mobile phone ?

(1) Spyware

(2) Adware

(3) Worm

(4) Trojan Horse
Options :

1.1

2.2

3.3

4.4

Question Number : 31 Question Id : 53307211301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

01 H | 3 98 Gidgl © S Sfdifed stger w1 w4 a1l 99— o gefia s & S
TR gt e Hemse B T Yehe 8 HeRd © 7

(1) T
(2 TEEAW
@) 9

(4) ZreEEd
Options :

1.1

2.2

3.3

4.4
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Question Number : 32 Question Id : 53307211302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microsoft Access is an example of a(n)
(1) Operational resource toolkit system
(2) ERP system

(3) Database management system

(4) Knowledge management system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307211302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HreshETRe vy e 8 § foRae seem 27
(1) JETeHeE HHHA Zeiche Wl

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307211303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the coverage area, identify the correct ascending order of the following four types
of computer networks A-D :

(A) WAN
(B) LAN
(C) MAN
(D) PAN

Choose the correct answer from the options given below :
(1) (D), (B), (C), (A)

(2) (B), (O, (A) (D)

(3) D) (©), (B), (A)

4) (A) (B), (D), ©

Options :

1.1

2.2

3.3
4.4
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Question Number : 33 Question Id : 53307211303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS & & YR W FH 42Tk o 14 T- THRI A-D F el TRE! W S Gedr Hired ;
(A) TG T (WAN)
(B) TAT T (LAN)
(C) THTTI (MAN)
(D) W TUA (PAN)
= fou o faded § F W& W FH =TI FIGC
(1) (D) (B), (O, (A)
2 (B), (©), (A), (D)
@) D) (©), (B), (A)
(4) (A), (B), (D), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 34 Question Id : 53307211304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following devices are computer output devices only ?
(A) Scanner

(B) Plotter

(C) Light pen

(D) Projector

(E) Speaker

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only

(2) (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307211304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e # & i gfaat Faa Feer 1 (sm=eye) g €2
(A) TR

(B) X

(C) @ W

(D) WSt

(E) @

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) &= (A), (B), (D) &R (E)

(2) = (D) &R (E)

(3) e (A), (B) 3R (C)

(4) = (B), (D) ¥R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 53307211305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(ICT Term) (Definition)
(A) VolP (I) A tool for real-time communication between two or more

people sending text messages to their devices

(B) Instant Messaging (IM) (I) A system of interlinked hypertext documents accessed via
the Internet

(C) VPN (IIf) A technology that allows you to talk with other people
using the internet

(D) WWW (IV) A network that protects data by encrypting network traffic

Choose the correct answer from the options given below :
(1) (A)-(1D, (B)-(I), (O)(1V), (D)-(III)

(2)  (A)-(IV), (B)-(1D), (C)-(1LL), (D)-(I)

(3) (A=), (B)-(I), (O-(I), (D)-(IV)

(4) (A)-(), (B)-(T), (O-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 53307211305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tet-11
(g i 2 ") (‘wfwraT )
(A) ot &0 e @ (VoIP) () 1ot il o are Haw 991 T < 71 Aferek safedi
=T arcaifires T9IR 7 ST
(B) Ok W YU (&ME wH) (IM) (1) FeE % wregw § st wrem Hhifed eemea gore
JoTTE!
(C) ot dt T (VPN) (Il) =& G S TI9eR 32012 o Wam § 319 w9
e A 1 AT Sl §
(D) &g =g g5g (WWW) (IV) € "o Sl eeeh A1 o hISIhv gHI <12l |
E2GI

= feu U forredi H @ W& 3T A = FHIWY
(1) (A)-1D, (B)-(0), (O-1V), (D)-(I1)
(2)  (A)AIV), (B)-(1I), (C)-(ILD), (D)-(T)
(3)  (A)-(), (B)-(D), (O)-(IL), (D)-(1V)
(4)  (A)-(), (B)-(D), (O-(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 36 Question Id : 53307211306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwi_ng are routes for exposure to pullutants m humans ?

(A) Inhalation

(B) Consumption

(C) Ingestion

(D) Dermal

(E) Digestion

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (B (D) and (E) Only
(4) (A), (O) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 36 Question Id : 53307211306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THE B U F SUTEA F 0 fefafaa § g wm E 2

(A) S TIEA
(B) 39
(C) iaem
(D) wE
(E) Hr=d

9 fou o fashedi H | W& I FH FFH FIfAC
(1) %9 (A), (B) 3R (C)
(2) FEE (A), (C) 3R (D)
(3) #Ed (B), (D) iR (E)
(4) FFA (A), (C) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307211307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as a prominent indoor air pollutant ?
(1) Mercury

(2) Radon

(3) Helium

(4) Argon

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307211307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | 58 ©F TE o1iafe 99 YU+ & a1 9% WHE1 ST € 2
() 9

2 A

(3) Efeam
(4) mH

Options :
1.1
2.2
3.3
4.4
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Question Number : 38 Question Id : 53307211308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Leachate is a :

(1) Green house gas

(2)  Air pollutant

(3) Liquid extract from landfill site
(4) Ozone depleting substance
Options :

1.1

2.2

3.3
4.4

Question Number : 38 Question Id : 53307211308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frenfea uemel (efee) 2w .
(1) 7 zRy

(2) @ 9gHh

(3)  yfFsEor =i § i a3
(4) SIS aor geref
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307211309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about tropospheric or ground level ozone ?
(A) It is called as good ozone

(B) Itis formed due to downward transfer of ozone from ozone layer
(C) Itis formed due to the action of sunlight on oxides of nitrogen
(D) Itisa green house gas

(E) Itis a key component of photochemical smog

Choose the correct answer from the options given below :

(1) (B), (©), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (©), (D) and (E) Only

(4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 39 Question Id : 53307211309 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1 5 9 [ afvHeeg Sge YT S % G99 | Hel ¢ 7

(A) Y TH 3= S Fal Al @

(B) e el Wa B 3 1 A= ot IR sfaftg @ & wwor fafda S ®
(C) & E2roM & Sise T gEReET #1 fofan & R fAfifa &t &
(D) IE TF WA 258 7§

(E) I% YohTO-THTATTF (RRIhiHeFel) el o THE Ho2F ©

= fau o fawmedi #§ 9 W& I 999 FHifAC

(1) = (B), (C), (D) 3 (E)

(2) EE (A), (B) #R (C)

(3) %= (O), (D) ¥R (E)

(4) e (A), (D) 3T (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 53307211310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about International Solar Alliance (ISA) ?
(A) There are over 100 member countries in this alliance

(B) Its head quarter is in Geneva, Switzerland

(C) Most of its member countries lie between equator and tropic of cancer
(D) Primary objective of alliance is to efficiently use solar energy

(E) It is a collaborative initiative of India and France

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2)  (A), (D) and (E) Only

(3) (B), (O) and (E) Only

4) (C©), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 53307211310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR 6 Teas (96 w9 T) & an § 74 § § 1 99 22
(A) =@ ER H 100 ¥ s g Tw it €

(B) U gEATE e, fafeseiz # &

(C) 3HF ATCRRIY Wew e T 37 ek v & 0o feom €1
(D) 39 TEEYA 1 WTHF 3599 G 3N =1 &1 ST FE1 B
(E) % 9RA 31N W% =i TF Gearl Jed 2|

= fou o fasedi §f 9 W& I 1 T HITAC

(1) e (A), (B) 3T (D)

(2) % (A), (D) ¥R (E)

(3) 9 (B), (C) IR (E)

(4) = (C), (D) 3R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307211311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kothari Commission (1963-64) suggested spending of national income on education.
(1) 3 percent
(2) 6 percent
(3) 7 percent
(4) 9 percent
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307211311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS AN (1963-64) A e W U9 &4 & T & =49 1 Gara o o
(1) 3 gfaem

(2) 6 gfayd

(3) 7 ufayd

(4) 9 gfaem

Options :

1.1

2.2

3.3

4.4
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Question Number : 42 Question Id : 53307211312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1948-49) suggested a bachelor degree of :
(1) Fiveyears
(2) Four years
(3) Three years
(4) Two years
Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 53307211312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fovafaemera f1am s (1948-49) 9 fohe aui @ & ©aw fei % fou ggma fean on?
(1) =

(2) =Ry

(3) < o

(4) Qo

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 53307211313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were measures initiated by Lord Auckland ?
(A) Guaranteed the maintenance of oriental colleges

(B) Publication of useful works for instruction in oriental languages
(C) Selection of certain places for establishing central colleges for highest instruction
(D) Closure of college libraries

(E) Abolition of student scholarships

Choose the correct answer from the options given below :

(1) (A), (B), (O) Only

(2 (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (D), (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 53307211313 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

e Alkeis 7 FafafEs § FHE 3u" gy fFu 972

(A) wr=g welfaarerdl (STftdeel FHIers) o STEeror i el YSH i
(B) WA wrisd H SHe % ford SwEnh FHiadl @1 g H

(C) =IaH 3T & foq Fwsig werferererdl i L= ¥ Hiqud T &1 999
(D) WeIfeRIea % YEashlcrdl ol g el

(E) foenfel =t wmafai =1 waifa

= feu mu fawredi § 9 WE I F T2 FfSU

(1) e (A), (B), (C)

(2) e (B), (C), (D)

(3) e (C), (D), (E)

(4) &= (A), (D), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307211314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the correct chronological order of the establishment of the following colleges :
(A) Fort William College, Calcutta

(B) Sanskrit College, Poona

(C) Central Hindu College, Benares

(D)  Anglo-Vedic College, Lahore

(E) Sanskrit College, Benares

Choose the correct answer from the options given below :
1) (A), (B), ©, E), D)

@ (), (D) (B), (B), (A)

@) (D), (B) (A), (B) (©)
(4) (B, (A), ), @), ©
Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 53307211314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa Terfaeredl 1 T o el FHIcTshiHe HH i Tgar il ;
(A) e fafezm e, o
(B) H&Rd Helfa=eT, I
Q) w2 foxg weifamned, F Iy
(D) Ure-afes Fiers, TeR
(E) HERd HelfE=eE, sRE
99 fou Tu fasredi H 9 W& 39 FFH FIfAC
(1) (A), (B), (O, (B). (D)
(2)  (©. (D), (B), (E), (A)
(3) (D), (E), (A), (B), (O)
4) (E) (A) (B), (D), (O)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 53307211315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Commission) (Recommendation)
(A) Hunter Commission ()  University technological departments providing for
research and teaching
(B) Sadler Commission (I)  Withdrawal of government support to collegiate education
(C) Hartog Committee (IT) Development of mofussil colleges into future university
cenlres
(D) Sargent plan (IV) Enrichment of college libraries and concentration on

Honours courses in select centres
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(ID), (C)(I), (D)-(IV)
(2)  (A)-(ID, (B)-(ID), (O)-(V), (D)-(0)
(3)  (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 53307211315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teli-1 TElt-11
( 2rErT ) (3TeTET)
(A) B AT () 9y i forem yere =2 & gey ¥ favafaares & drifmsm fagm
(B) USSR &@EM () Welfaamed fen 9 Sl §Hefd g2
(C) =R gfufg (IIl) HFeqe Helfaared & dwel foavafaeme™ =i ¥ fawfaa e
(D) W= GreT (IV) werfaene™ & qEakmedl & Hadq 3R gfer #=i § 176 T2mra
et
= feu o fosredi | W@ I FH =T HIGC
(1) (AHD), (By-(II), (O)-(II), (D)-(IV)
(2) (A1, (B)-(ILD), (C)-(V), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)-(D), (D)-(I)
(4)  (AHLV), (B)(D), (C)-(IN), (D)~(IM)
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072445
Question Shuffling Allowed : No

Question Id : 53307211316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow :

Holidays are often a time of culinary indulgence even for people who are usually careful about
diets for the rest of the year.

But there is more to holiday eating than avoiding excess calories. What we eat affects the health of
the entire body, including the immune system. Since the most of the body’s immune system is concentrated
in the gut and the trillions of healthy bacteria living there called the microbiome - what we eat has a
direct impact on how the immune system functions. “A lot of people don’t think about the effects of
what they eat on immunity. But the science says it's crucial”, says Heather Moday, MD, Founder of the
Mnday Centre for Functional and Intergralive Medicine in Norfolk, Virginja, and Phjladelphia. And it's
especially important at this time of year, Since the winter holidays occur around the time when illnesses
like colds, flu and other respiratory illnesses peak.

While an occasional indulgence probably won't cause lasting damage, throwing caution to the
wind till New year’s Day is certainly unhealthy and might make you more susceptible to getting sick.
“Even just a month of really just blowing it and not caring about nutrition can impact the microbiome”.
says Kristin Kirkpatrick, a registered dietitian at Cleveland Clinic’s department of wellness and preventive
medicine.

Sub questions

Question Number : 46 Question Id : 53307211317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Important key message the above text conveys about holiday eating can be stated as follows :
(1) Itis important to completely avoid indulgence

(2) Occasional indulgence is unlikely to cause lasting damage

(3) Diet has no significant impact on the immune system

(4) Holidays are an ideal time to experiment with extreme diets

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307211318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct statement that describes the primary focus of Heather Moday’s statement in
the text :

(1) The benefits of a balanced diet

(2) The relationship between diet and immune system
(3) The importance of regular exercise

(4) The effects of meditation on health

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307211319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are effects of diet on the body’s immune system as discussed in the text ?
(1) Increased cholesterol levels

(2) Direct impact on immune system functions

(3) Improved skin health

(4) Loss of appetite

Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307211320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microbiomes are important as :

(1) They create lots of sugar in the body

(2) They are healthy bacteria living in the body

(3) They may raise blood pressure and heart disease risk

(4) They increase the tendency for processed food

Options :

1.1

2.2
3.3
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4.4

Question Number : 50 Question Id : 53307211321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4)  Occasional food indulgence will cause lasting damage

Options :
1.1
2.2
3.3
4.4

Question Id : 53307211316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

ferw U TEITYT St UgeRT WYl o ST EITa

gfgat yra: 37 mt % fow off @ # dferad &1 w2 €, S e ad § o7 SeR % 9 H |
T W 2 |

cifer, stfafter Fer & 9o ¥ 5= % 999 Pl & fo Trae & 9§ o) of 91 €1 89 S @ w5
¥ Iue gfeierss yomell afed Gl IR % Tared W uYE Tedl €1 iifE I F sifernie ufeterr yomedt ot
T Hopf=d € 3R e foremm owal & T o AiEshiaram e T SEiean (SiE]) -gn 4 W ¥, SHH Toda
T9TE Teal & foF wicremss gonell Y #1d Fdt ¢ | aga-a @R 3 W 9 ioiE 1 g2 9l 99 o 9
T & Hrd € afe fagm Fea ® T 72 veoqul €1 9% WdwE, gt R frersfern § de 8= wR
hRM g Farifeq Afefam % yay fewe vd Srays T HIE F FeN €| SR g ad & 39 g9g ¥ faum 'y
H Heayu € FifE 9l #1 wfcal oy 36 99 2l €, 59 W, W &R YagT SR 9H W e € |

iR AT-hal WA | Sfera 31 Syad: T afa 98 geanem, dfwd Ta-a4 % G 7 gy 1@
e T € srarers € S SR S § Ufa R T €1 Feligeie gl & 9oy ue frafea
Hfefad fewdiez ¥ ysiigra smer fasvs foreia fardhfes o1 Fem & ' arce | W U W | aT9Eme e siit
o 2 R H e T 39 I WEREEN R 99E U gk g1

Sub questions

Question Number : 46 Question Id : 53307211317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IUF 9IS 5N BEl & e &% @AY H Hieraar % 9] H Siaely T Heequl 1 G Fi frefaiead % '
¥ srfiyeram foran < Te €

(1) @AY o e | qoia: a9 Hewgd

2)  FE-hel WA H Sfereal gr et aifa sEafe 2

(3) TER 1 YIOET JOIEl T 1S Hield GUE el g 2 |

(4) fedi & feT sfa—am e & 9 99 37 % Th 59 909 © |

Options :

—
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1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 53307211318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TE FHYF 1 T Fo0, IS H BT 1S F FYA W NAfTF B9 G oH Figa =4 F 9N H T F=a

(1) Hafera er & o

(2) SR AR W& Yomed o e Gay
(3) frafma =mam = 9

(4) =M % @ |/ Y9E

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307211319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § wOr & gfoweon yomelt | 21 & fohg gura =i == #T T § 2
(1) 3 gY FleRIe &R

) wfaeeror guret < el W geds a9

(3) T F WA H guUR

) @ A T

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307211320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) 3 R ¥ sreaferr 960 30 F4d B

(2) IR H oA @ s (Siem) €

(3) A FaEm iR 7 e I &% sifew #§ gfg g ¥
(4) 3 TEERT @ UeHel % Hed o1 99t 9gid & |

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307211321 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4) Occasional food indulgence will cause lasting damage

Options :

1.1

2.2

3.3

4.4

History

Section Id : 533072150
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072446
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307211322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Traditiuna]ly, the five principal Arya_n tribes curustituting ‘Pancha janah’ are :
(1) Bharatas, Puru, Tritsus, Dl'uhyu, Yadu

(2) Bharatas, Tritsus, Yadu, Turvasa, Anu

(3) Puru, Tritsus, Turvasa, Druhyu, Yadu

(4) Puru, Yadu, Turvasa, Anu, Druhyu

Options :

1.1

2.2

3.3

4.4

Question Number : 51 Question Id : 53307211322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WRETE 9§ gee: | | yifhe e wE o weid €
(1) w4, 9% 59, 58, 715
(2 wa, By, 35, 99, o
(3 9 g, g6, g1 99
(4) 9% ¥ TE4, o1, 56

Options :
1.1
2.2
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3.3
4.4

Question Number : 52 Question Id : 53307211323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which among the following is not associated with Magadha ?
(I) Haryanka
(2) Kaivartas
(3) Saisunaga
(4) Nanda
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307211323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feifeRa & 19 Y § Helfr 6l € ?
(1) #d&

(2) Fad

(3) 5?%3"'

(4) =

Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307211324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the odd term among the following :
(1) Araghatta

(2) Vapi

(3) Churni

(4) Norias

Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307211324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Frefeafaa % | sWa wss ol Tegifera Hifa
(1) &=L

(2) =

(3) =l
(4) A
Options :
1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307211325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per tradition, the number of Alvars and Nayanars, respectively, are :
(1) 12 and 63

(2) 63 and 12

(3) 11 and 51

(4) 51and 11

Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307211325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROTHR SATaR] 37 TEAR i 9@ %9 | ¢
(1) 12 3R 63
(2) 63 3R 12
(3) 11 3R 51
(4) 51 2R 11
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307211326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The word ‘Takshan’ in Ancient India, denotes :
(1) Nobles
(2) Charioteer
(3) Village headman
(4) Carpenter
Options :
1.1
2.2
3.3
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4.4

Question Number : 55 Question Id : 53307211326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 9Ra § ' 9eT0’ vieg fAeAfaiea § 9 forae =i € 2
(1) el (SAferm)

(2) TRef

(3) i@ = Tm TE

(4) e

Options :

1.1

2.2

3.3
4.4

Question Number : 56 Question Id : 53307211327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book 'Nyaya-tattva’ which gives an elaborate exposition of the philosophy of the Vishishtadvaita
school, was authored by :
(1) Nathamuni
(2) Lagadhamuni
(3) Bharatamuni
(4) Ramianujacharya
Options :
1.1
2.2

3.3
4.4

Question Number : 56 Question Id : 53307211327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafsrersa duer % <9 #1 fawga afaues F3 ael Tk AaE-a % a9 ¢ o
(1) e

(2) wrEHMA

(3) TR

(4)  TEESTEE

Options :

1.1

2.2

3.3
4.4

Question Number : 57 Question Id : 53307211328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘Erivirapattanas’, during the Chola period, stood for :

(1) Merchant trade guilds, operating from towns

(2) A kind of toll/cess

(3) Protected mercantile towns, which emerged as important centres of trade
(4) Code of conduct for urban dwellers

Options :

1.1

2.2

3.3
4.4

Question Number : 57 Question Id : 53307211328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<l YA e o eRH, CgRiat o arerd o

(1) R 9 Hafea SmiEl & 99

(2) TYUH/ITHL H TEHR

(3) wfera SAIfE R, S TR O WE g o T H 3
(4) TR FaEfEdl =1 sremr-dieda

Options :

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 53307211329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Distinction between ritual sovereignty and actual pnlitical control in the context of the Chola state,
is the hallmark of :

(L)
(2) Centralized state proponents
)
(4) Segmentary state proponents

Feudal model proponents

Despolic state proponents

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307211329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?ﬁﬁ%@ﬁﬁ@%@%@ﬂﬁﬁﬁ%ﬂﬁﬁﬁﬁm%ﬁﬂﬁ%ﬁﬂ%ﬁaﬁwm

(15 |t wigd % fqued

(2) FHIFa I dfadies

(3) 9 =1 ufques

(4) WEMA TF giaaes
Options :
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1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307211330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Towards the end of 1302 or in the beginning of the next year, Alauddin Khilzi sent an expedition
to Warangal, which was badly defeated, under the command of :
(1) Nusrat Khan and Malik Naib

(2) Umar Khan and Mangu Khan

(3) Fakhruddin Jauna and Chhajju

(4) Kamal-ud-din Gurg

Options :

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307211330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a9 1302 % 3id H A1 371 a4 o UNY H TI3qald faersil 3 arirel U Sshvl & foru S §= el Wil off,
forert o1 9% W g3, 39 9AMfd & 9 2

(1) 9% @M 3R wfee T

(2) SWEH IR T EH

(3) HERIEH S SR B

(4) GRS T

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307211331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which historian provides the account of accidental death of Ghiyas-ud-din Tughlaqg by
lightning :

(1) Barani

(2) Isami

(3) Ibn Batutah
(4) Badauni
Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 53307211331 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

feferfas & 9 for sfosraer 3 Targes qere &1 fasicll T | g8 strepferes weg o faawo weqd foren
g7

(1) @

(2) @

(3) TR

(4) =PI

Options :

1.1

2.2

3.3
4.4

Question Number : 61 Question Id : 53307211332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Battle of Kovilakonda, which was fought between Vijayanagar and Bahmani kingdoms, occurred
in the reign of :

(I) Krishnadeva Ray
(2) Saluva Narasimha
(3) Devaraya Il

(4) Vijayaraya I
Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307211332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

farsa 3iR Few T59 % o Fifaeehivel #1 45 foas IeH we | gon o1 ?
(1) FoRE WM™

(2) dqa WiEE

(3) Al

(4) feasEE O

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 53307211333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Madhuravijayam (Conquest of Madura), which describes the campaign of Kumar Kampana, son
of Bukka I, is written in :

(1) Telugu
(2) Sanskrit
(3) Kannada
(4) Tamil
Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 53307211333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%am[%mrgaww#afwwaﬁﬂaﬂﬁwﬁmgum(@—ﬁm)ﬁmﬁﬂwﬁaﬁ
?

(1)
(2) WERd
(3) =€
(4) dfFe
Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 53307211334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which title Shivaji had not assumed at the time of his coronation :
(1) Kshatriya - Kulavatamsa (Head of the Kshatriya Kula)

(2) Simhasanadhisvara (Lord of the Throne)

(3) Maharaja (Emperor)

(4) Vedamarga-pratisthapaka (Establisher of the path of Vedas)
Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 53307211334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e o GHd forarsit 5 A |l 3y R T i ?

(1) sBEE-Fered (4 Fa THE)
(2) THermmdivat (fHerea-sifyafa)

(3) HeR
(4) SEAT-gfT=TR
Options :

1.1
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2.2
3.3
4.4

Question Number : 64 Question Id : 53307211335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Eastern Ganga Ki_ng of Orissa had defeated the army, sent by Ghiyas-ud-din Tughlaq T
(1) Narasimha II

(2) Bhanudeva II

(3) Narasimha III

(4) Kapilendra

Options :

1.1

2.2

3.3
4.4

Question Number : 64 Question Id : 53307211335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS e g WSt T 1 Rl e S aren 31 SRl gl 7 el e H F e o1?
(1) =Ee1

() wHEEn

(3) fEE I

(4) wHUers

Options :

1.1

2.2

3.3
4.4

Question Number : 65 Question Id : 53307211336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ministry of ‘Diwan-i-Bayutat” in Mughal period took care of :
(1) Military accounts

(2) Cavalry

(3) Courtly etiquette

(4) Karkhanas (State-factories)

Options :

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 53307211336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e e H ' SeA-u-agda ' "o fefafea @ | feag gafia ar?

(1) 4= o

(2) TSR B

(3) <@ faerEr

(4) HEM (IF IET HREH )
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307211337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Tamil inscription, which records the construction of Lord Shiva temple in 1281 by a merchant
Sabanda Perumal alias Tavashchakravarti, is found at :
(I) Alexandria in Egypt

(2) Aden in Arabian Peninsula

(3) Quanzhou in South China

(4) Bharuch in Gujarat

Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307211337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= dfe sifvera, foad 99 1281 H U =TI TaSusae 3% dadeshad] gl e 9 o wfer & iy
srfufafaa B, wel safiem €2

(1) Toe < sreiapif-gan o

(2) oRE YIFEE 6 T o

(3) aferu A % sare |

(4) TEUEF 9EE H

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307211338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Jewish merchant, Abraham ben Yiju (1133-49), ran a bronze factory in India at :

(1) Mangalore
(2) Cochin
(3) Calicut

(4) Kolhapur

Options :
1.1
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2.2
3.3
4.4

Question Number : 67 Question Id : 53307211338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl SR ST S T4 (1133-49) d o frefafea o & forg wet § e 1 el sar o1 ?
(1) HTAR
(2) REH
(3) FTelhe
(4) =lERR
Options :
1.1
2.2

3.3
4.4

Question Number : 68 Question Id : 53307211339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which singer had received the title of ‘Gunsamundar’ by emperor Shahjahan ?
(1) Vilas Khan
(2) Lal Khan
(3) Kushahal Khan
(4) Hayat Khan
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307211339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SIS YNESTel gRI Tfetes % § fod e =i oy’ s g fied o ?
(1) fooms =

(2) @@t

(3) FIETA Wl

(4) eEaE

Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 53307211340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which Sufi Saint translated ‘Amrit-Kunda” under the title ‘Bahr-ul-Hayat’ ?
(1) Abdul Qadir

(2) Kalimullah Jahanabadi

(3) Sheikh Muhammad al Hussaini

(4) Sheikh Muhammad Ghaus

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307211340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Freferfiad § | fofg 9wl €a 1 ' 3mga Fv2’ &1 98Ee A’ AW € SR R o1 ?
(1) ¥ge =ifet

(2) AT SR

(3) 9@ e ITe-ghAl

(4) ¥ HEE T

Options :

1.1

2.2

3.3
4.4

Question Number : 70 Question Id : 53307211341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Mewar King wrote three works on science of music called Sangitaraga, Sangita Mimansa
and Suraprabandha ?

(1) Lakshasimha

(2) Mokal

(3) Kumbhakarna (Kumbha)
(4) Rayamalla

Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 53307211341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

are & frefafad § 9 fFg o (T=) A Siaa, S 5 SR g T St faer | g
T TR =T ered TR o 2

(1) wfHE
(2) HiEwd
(3)  FEeRTl (F)
(4) TEHEA
Options :

1.1
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2.2
3.3
4.4

Question Number : 71 Question Id : 53307211342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Sufi Saint called Hindu, ahl-i-Kitab’, and Vedas, “the revealed book'.
(1) Mirza Mazhar Jan-i-Jana

(2) Sheikh Abdul Qaddus

(3) Bayazid Ansari

(4) Shah Abdul Latif

Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307211342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frferfaa # & form gl 9a 7 fegedi &1 ' ot e’ 3t 351 1 ' Svaufewe (3@afa) I’ & o ?
(1) ot weRE S-S

(2) WG A FEGH

(3) @AIfE SHE

(4) YR FEd TqAE

Options :

1.1

2.2

3.3
4.4

Question Number : 72 Question Id : 53307211343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The author of the book ‘Indian war of Independence, 1857 is :
(1) Swami Vivekanand

(2) Awurbindo Ghosh
(3) Bhagat Singh
(4) V.D. Savarkar
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307211343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘femm ar At 3fei=, 1857 ' J&0F F OIEF §

(1)
(2)
©)
4)

= faadr<
e =99
T foE
.21 |eEE

Options :

1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307211344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

By 1800 the Maratha Empire consisted of a cnnfederacy of five big Chiefs. Who were these five big

Chiefs ?

(1) The Peshwa at Poona, the Gaekwad at Baroda, the Sindhia at Gwalior, the Holkar at Indore
and Bhonsle at Nagpur

(2) The Gaekwad at Poona, the Peshwa at Baroda, the Holkar at Alagpur, the Bhonsle at Indore
and the Sindhia at Gwalior

(3) The Sindhia at Gwalior, the Bhonsle at Poona, the Gaekwad at Indore, the Holkar at Baroda
and Peshwa at Nagpur.

(4) The Sindhia at Poona, the Peshwa at Gwalior, the Holkar at Baroda, the Gaekwad at Indore
and the Bhonsle at Nagpur

Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 53307211344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1800 TF HIST VUG Tie 9 W@ (FF) F IETaT g o | A g as W@ A | 92

(L
2)
(3)
(4)

ol ¥ Yyre, Ik H MEskars, aif § fEfE, 3Er | giesht S AT 7 9iEa
T B TEIkATS, FEel § U9, AR § wekt, 36 H e el enfe # fafian
Tarferae | fafuan, g0 § g, 3R § TMawars, d8iel § alosht 3R AR #H geE
o B feffern, venferR A Y, e A S, T H TS S A A sfige

Options :

1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307211345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who seized the English [-actnry at Kasim bazar, marched on to Calcutta, and occupied Fort William
on 20 June 1756 ?

(I) Tipu Sultan

(2) Mir Jafar

(3) Siraj-ud-Daulah
(4) Mir Kasim
Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 53307211345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frpeferfiaa o & foram shotehan AAfvam o SR0A SHIfEw =TSR | S3sT i el 9 ee fohar aem 20 59 1756
1 e faferm o SRR s 2

(1) &9 gem
(2) R ST
(3) Toegien
(4) HIL FIEH
Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 53307211346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

By 1623 the English East India Company had established Factories (trading posts) at :
(1) Baroda, Calcutta and Hyderabad

(2) Broach, Ahmedabad, Agra and Masulipatam

(3) Bikaner, Panipat and Mysore

(4) Bombay, Chandranagar and Pondichery

Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 53307211346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 £ e St A od 1623 7% FAfafas T w Fagat (smmfie =SifEar) wenfua =i
(1) e, Foeka 3R Teuee

(2) 9T, STEHSER, I SR AYATLH

(3) SRR, Y S HE

(4) %, TR TR qfree

Options :
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1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307211347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Permanent Settlement was introduced in 1793 by Lord Cornwallis in :
(1) Bengal and Bihar

(2) Bengal, Bihar and Orissa

(3) Bengal and Madras

(4) Bengal and Bombay

Options :

1.1

2.2

3.3

4.4

Question Number : 76 Question Id : 53307211347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS FHaNed 7 79 1793 H foFT T 12 Tl deeed i JEeTa & of ?
(1) e &3 foer

(2) =, foer SR 3

(3) e IR HEH

(4) =T SR S

Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 53307211348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The “Spanish Flu’ first reached to which city of India in 1918 ?
(1) Calcutta

(2) Bombay

(3) Lahore

(4) Poona

Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 53307211348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘orfer 9o’ o 1918 H TEwem e ¥ R vt ¥ ugen?
(1) e

(2) %

(3) ©RER

(4) T

Options :

1.1

2.2

3.3
4.4

Question Number : 78 Question Id : 53307211349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 1855-56 the _ tribesmen of Bihar and Bengal rose up, armed with axes, bows and
arrows, temporarily swept away British rule from their area.
(1) Ho and Munda

(2) Santhal

(3) Paika

(4) Bhils

Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 53307211349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 185556 H fagr 3R el it TS 7 Feerel SR dR-UT H ge S o a9 |
fafeer mm =it surEl 91 W e e |
(1) @SR

(2) Hum

(3) EH

(4) ofte

Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307211350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Civil and Military Gazetteer was published from which of the following City ?
(1) Madras

(2) Allahabad

(3) Calcutta

(4) Lahore

Options :
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1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307211350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 3R T U9 1 yeeH fefafag § | g ot § e on ?
(1) ™&EE

(2) TORER

(3) ekl

(4) TER

Options :

1.1

2.2

3.3
4.4

Question Number : 80 Question Id : 53307211351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Independent Republic of India carried out “Operation Polo” against which Princely State ?
(1) Kashmir

(2) Jodhpur

(3) Junagarh

(4) Hyderabad

Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307211351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fraferfea § | fg <o fara & fovs @9 TRg TREE 3 ' SR OTe’ S o ?
(1) FYHR

(2) SR

(3) TTE

(4) <oUER

Options :

1.1

2.2

3.3
4.4

Question Number : 81 Question Id : 53307211352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who among the following are not the Leaders of Indian National Army ?
(1) Rash Behari Bose and Captain Mohan Singh

(2) Captain Mohan Singh and Subhas Chandra Bose

(3) Pritam Singh and Captain Mohan Singh

(4) Prithvi Singh Azad and Phanindranath Ghosh

Options :

1.1

2.2

3.3
4.4

Question Number : 81 Question Id : 53307211352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sfeaa Jema el & Ja Fifera § @ A 7 €2
(1) T faer 9| it Fed Hied fug
(2) o Hied fHe SN g =g o™
(3) Hiaw fHg iR e A e
(4) g fHE AR SR HUiEAY =19
Options :
1.1
2.2

3.3
4.4

Question Number : 82 Question Id : 53307211353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The All-India States People’s Conference had been founded in which month and year ?
(1) December 1925

(2) December 1926

(3) December 1927

(4) November 1928

Options :

1.1

2.2

3.3
4.4

Question Number : 82 Question Id : 53307211353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T 3fean Wm i ey Fihg &1 e fog e ofR ad | g o ?

(1) fewee, 1925
(2) fewe=ry, 1926
(3) TeEwR, 1927
(4) TEFEY, 1928
Options :

1.1

2.2
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3.3
4.4

Question Number : 83 Question Id : 53307211354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sikander-Jinnah Pact happened between whom and when ?
(1) Sikandar Lodhi and Muhammad Ali Jinnah, 1930

(2) Muhammad Ali Jinnah and Sikandar Hag, 1935

(3) Sikandar Hyat Khan and Muhammad Ali Jinnah, 1937
(4) Sikandar Hyat Khan and Muhammad Ali Jinnah, 1939
Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 53307211354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foehee-To=1 wweta forder 7eg SR &a gt o1 7
(1) ToFst ARt iR gemg a7 f59, 1930

(2) WEWR el =1 SiR faeht &, 1935

(3) Tash=t g @M SR qewig el s, 1937
(4) o=t 9@ @H 3R germg 37l =1, 1939

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307211355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who propagated the concept of “Total History”.
(1) August Comte

(2) George M. Trevelyan

(3) C.V. Langlois

(4) Marc Bloch

Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307211355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘g sfaer’ (3w fe=) +i Oeher fF vl =+ ?
(1) 3R He

(2) SISt uH, et

(3) HLEl TRy

(4) HIF sEAE

Options :

1.1

2.2

3.3
4.4

Question Number : 85 Question Id : 53307211356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Renaissance spirit made great impacts on historiography. Which of the following is not
belonging to those impacts ?

(1) Return to Humanistic view of history

(2) Emergence of lay historian

(3) The growth of a new school of humanistic historians
(4) The emergence of Universal history and Chronology
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307211356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISR ol 911+ 3faerE-oiad W eadek gre erel/ fFefafaa o § &H 37 gvel 9 gafda 78 ¢ ?
(1) faer % aFEE gt w3 de

(2) Afesros sfaeraerrl =1 wgHie

(3) WM faeEERl % T4 HUeE &l dfs

(4) wEsITHEF Sfaer 3R FTeTTET g

Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 53307211357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Plagiarism can not be detected by :
(1) Scopus
(2) Turnitin
(3) [Ithenticate
(4) Urkund
Options :
1.1
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2.2
3.3
4.4

Question Number : 86 Question Id : 53307211357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 90 (wfen) i fFafafas  gr T8 o o S S
(1) TRI9™

(2) =fHfes

(3) smedf=®e

(4) TFs

Options :

1.1

2.2

3.3
4.4

Question Number : 87 Question Id : 53307211358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In history-writing, Rankean approach of history emphasises on :
(1) Sanctity of facts

(2) Ideology

(3) Emotion

(4) Sensitivity

Options :

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 53307211358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sfaem—orgd H 3fdem =1 'O =1 sae’ frefafad mea e e

(1) el =i afasm
(2) fe=mrEm

(3) W@ (Fam)
(4) Hogsierar
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307211359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who has said that history is simply a science, no less and no more ?
(1) Collingwood

(2) JB.Bury

(3) Tyonbee

(4) Lord Acton

Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307211359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frAferfaa # § e wer T sfaers shae faam €, 7 3699 550 &9 a0 7 359 14 ?
(1) HETEE

(2) S =

(3) ATt

(4) e TERA

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307211360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does Cleopatra’s nose theory in history mean ?

(1) History is individual oriented

(2) History is scientific knowledge

(3) Causation in History

(4)  All History is contemporary history

Options :

1.1

2.2

3.3
4.4

Question Number : 89 Question Id : 53307211360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sfaery H * faerirer &t =6’ & Togia =1 oM
(1) faer =fe-3=7E §

(2) fRTE S JE 2

(3) sfaers H HE-FR0 Hay |

(4) el sfaer TeReE Sfoery #

Options :

1.1

2.2
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3.3
4.4

Question Number : 90 Question Id : 53307211361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Scissors - and - Paste history presents history as :
(I) A carrier of ideology

(2) A mere compilation of facts

(3) A branch of romanticism

(4) A gender history

Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307211361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeEl AR Favema sfaerg (Hied U U fexgl) Frafafaa €9 9 sfaem 1 9&da &l © ¢
(1) =M = 9ew

(2) @A F Heberd HIA

(3) EHTHIETG I ArEn

(4) Siex (SifTR) sfaer

Options :

1.1

2.2

3.3
4.4

Question Number : 91 Question Id : 53307211362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the items of export from India to the Roman world in the post-Mauryan period.
(A) Textile

(B) Glass beads

(C) Ivory

(D) Olive oil

(E) Black pepper

Choose the correct answer from the options given below :
(1) (A), (O), (E) Only

@ (A), (B), (O), (D) Only

(3) (A), (©), (D) Only

(4) (A), (B), (D) (E) Only

Options :

1.1

2.2

3.3
4.4
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Question Number : 91 Question Id : 53307211362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR el W 9 | I o Fafa =6 S Al axge @ fafea e

(A) o=

(B) =Hi % HIH
(C) ewfi 5 (TeEw)
(D) i 1 4

(E) Tl fosd

= feu o fawedi ° | W@ 3T F =9F i
(1) == (A), (O), (E)
(2) 9 (A), (B), (C), (D)
(3) = (A), (O), (D)
4) = (A), (B), (D) (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307211363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Sea-ports, as mentioned in the post-Mauryan sources, from north to south

on the Indian subcontinent.

(A) Barbaricum

(B) Barygaza (Bhrigukachchha)
(€) Muziris (Muchiripattanam)
(D) Souppara (Sopara)

Choose the correct answer from the options given below :
(1) (@), (A), (D), ©

@  (®) (A), (©, (D)

(3) (A), (B), (D), (O)

4) (A) (B), (O, (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 92 Question Id : 53307211363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR el sfeofen frafates gae-TmEt 1 9Rdg Sumege § W g <fem ¥ w5 § safer
HIfeTT

(A) aNETFEH

(B) TS ( YF=D)
(Q) HfafE (gfadiuezT)
(D) Eo (HTIRT)

= g T faeped! # 9 W& ST =HA i ;
(M (B), (A), (D), (O
2 ®), (A), (), (D)
(3) (&) (B), (D) ©
(4) (A) (B), (C), (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 93 Question Id : 53307211364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the following in ascending order (earliest to recent).
(A) Aryabhata

(B) Susruta

(C) Varahamihira

(D) Hieun Tsang

Choose the correct answer from the options given below :

(1) (B) (A), (), (D)

(2 (B, Q) (A) (D)

3) (@A), (B), (©), (D)

(4) (A, ®), (D), O

Options :

1.1

2.2

3.3
4.4

Question Number : 93 Question Id : 53307211364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfaa &t eRE (et ¥ 9% %) FArsET § sraftyd Fife

(A) g
(B) 97
(C) =l

(D) T

i fau U faeked! H 9 Wé I 1 = BT
(M (B), (A). (C), (D)

2 ®),(©) (A) (D)

(@) (A), (B), (C), (D)

4) (A) (B), (D), ©

Options :

1.1

2.2

3.3
4.4

Question Number : 94 Question Id : 53307211365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Persian texts in chronological order of their completion from earliest to
recent.

(A) Tarikh - i- Daudi

(B) Mathnavi - i- Alamgiri

(C) Tarikh-i- Alfi

(D) Padshah - nama

Choose the correct answer from the options given below :
() (), (D), A), ©

(2 (A), (©), (D) (B)

(3) (A, (B), (©), (D)

4 (©),(A), (D) (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 94 Question Id : 53307211365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FeAiTeRa FCET Tl 1 IAhT TN o SHIATSRH H SHaieed Shiferd (T8e | 915 ¢

(A) THE-T-SE
(B) HHHI-U- SR
(C) TRE-T-3H
(D) URE-AHI

e few o foepedl # | W&t IO F F9A Hi
(M (@), (D), (A), (©)

(2 (A) (©), (D) (B)

@) (A), B) (C), (D)

4) (©), (A), (D), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 53307211366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the advent of following foreign travellers in Mughal period in ascending chronological
order (earliest to recent) :

(A) Pietro Della Valle

(B) Peter Mundy

(C) William Hawkins

(D) Jean Baptist Tavernier

Choose the correct answer from the options given below :
(1) (A), (B), (O) (D)

2 (B @A), (D) ©

(3)  (©Q). (A), (B) (D)

4 (©), (B), (A) (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 53307211366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR | frfafes fEsel e & omme 1 e FemgEn | safed Fifee (Ted ¥ 918) ¢
(A) T 2enaa
(B) WX HA
(C) faferm gifer=
(D) 4T ddfere Zaffm
A fou T fashed] # ¥ W&t 3T 1 = Hi
(1) (A), (B), (C), (D)
(2) (B), (A), (D), (O
@) (©, (A), (B), (D)
(4)  (©), (B), (A), (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 96 Question Id : 53307211367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following sultans of Qutb-Shahi dynasty of Golconda in ascending chronological
order (earliest to recent) :

(A) Ibrahim Qutb Shah

(B) Muhammad Quli Qutb Shah

(C) Abdullah Qutb Shah

(D) Abul-Hasan Qutb Shah

Choose the correct answer from the options given below :
(1) (A, (B), (), (D)

(2 (B, (O (A) (D)

(3) (©), (B), (D), (A)

(4) (B), (A), (©), (D)

Options :

1.1

2.2

3.3
4.4

)
)

Question Number : 96 Question Id : 53307211367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Mergvel & Faa-vTel Toey  ffafead gear &1 TR FIewy | saftad Fifae (76 ¥ 9%) -
(A) zIfEH Fqd 9E

(B) HEWR Fell FIH IR

(C) Hegeedl $iqd Me

(D) SHIA-<HT Fgd e

= feu o faeredi # | W& 3T FH 999 FIC

(1) (A), (B). (C), (D)

(2 (B), (©), (A). (D)
@) (©), (B), (D), (A)
4) (B), (A), (Q), (D)
Options :

1.1

2.2

3.3
4.4

Question Number : 97 Question Id : 53307211368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events of the reign of Peshwa Bajirao I in ascending chronological order
(earliest to recent) :

(A) Battle of Bhopal

(B) Treaty with Chhatrasal

(C) Battle of Amjhera

(D) Occupying the fort of Bassein

Choose the correct answer from the options given below :
(1) (A), B), ©, (D)

@ B, ©) D) A4

@) (©). (A), (D) (B)

@) (©. (B) (A) (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 97 Question Id : 53307211368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YT ATSE [ oF AR i fAAferiEd S-St i 3TUEl HiadEy H SAaieed $ifed (T8 9 a15) ¢
(A) T - I3

(B) TEE % |IY HiY

(C) T3 1 I3

(D) «fed % g 9T Feall

= feu o fasedi § | W& I F1 =9E S
(1) (A), B). (©), (D)

@ (B, () (D), (A)

3) ©. (A), (D) (B)

4) (©), (B), (A) (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 98 Question Id : 53307211369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following mosques (masjid), constructed by Delhi Sultans, in the ascending
chronological order of their construction (earliest to recent).
(A) Moth-Ki-Masjid

(B) Jam'at-Khanah Masjid

(C) Begumpuri Masjid

(D) Khidki Masjid

Choose the correct answer from the options given below :
() (B, ©) (D) (4)

@ B, ©) A) D)

(3)  (A) (B). (O (D)

@) (4) (©. (D) (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 98 Question Id : 53307211369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faeet & gear gr ffda frefafea afsel @ s i $ R ey | srafer wifag (e 9
aqe) :

(A) HIE = "k
(B) I &Ml HiEsi]
(C) =g "l
(D) faeri witse
= feu 7o fosmed | ¥ W&t ST 1 = i
(1) (B), (©) (D), (A)
@ (B, (O (A) (D)
(@) (A), (B), (C), (D)
(4) (A) (©). (D) (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 99 Question Id : 53307211370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following saints in chronological order (earliest to recent) :
(A) Ramanuj

(B) Andal

(C) Ramananda

(D) Kumbhandas

Choose the correct answer from the options given below :

(1) (A), ), (O (D)

@ (O (A), (B), (D)

@) B, (A), © (D)

@ (), (O D) (A
Options :

1.1

2.2

3.3
4.4

Question Number : 99 Question Id : 53307211370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfaa o4t 1 FerEEn | aftg Fifew (9w g 9) ¢

(A) THIS
(B) HIUETH
(C) THHE
(D) FHTE™

= fou o fawedi § 9 WE TR = F I
(1) (A) (B), (O, (D)

2 (©, (A), (B) (D)
3) (B (A), (O, (D)
4) (B), (O), (D), (A)
Options :

1.1

2.2

3.3
4.4

Question Number : 100 Question Id : 53307211371 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following incidents in chronological order (earliest to recent).

(A) Anglo-French Contflict at Coromandal coast

(B) Foundation of Imperial Records Department (National Archives of India) at Calcutta

(C) The famous Resolution by Lord Ripon, which is also called the magna carta of Local self
Government

(D) The Punjab and the North West Frontier province were annexed by the British Empire
Choose the correct answer from the options given below :

(1) (A), (D), (C) and (B)

@ (B), (C), (D) and (A)

(3) (D), (O) (B) and (A)

4)  (©), (D) (A) and (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 100 Question Id : 53307211371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freaferfad it Tl FempEa | sEid S (TR 9 96) ¢
(A) FUHESA T2 W AT-FHH T5

(B) Ferhdl H erdifige sifyera faum (g U ser@ri) & T
(C) e ftu gr1 wfers Hehed, TS T Taemeq =1 Tl off el Sl § |

(D) YSITe SR ufy=ER diid wid 61 fafes amsa gr faea
T feu o fasedi # 9 QE ST & =994 FI

(1) (A), (D), (C) 3R (B)

2) (B), (C), (D) &R (A)

(3) (D), (C), (B) 3T (A)

4)  (©), (D), (A) 3 (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307211372 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in chronological order (earliest to recent).
(A) Rangpur Dhing Peasants’ Revolt.
(B) Foundation of Ved Samaj in Madras.

(C) Ishwar Chandra Vidyasagar started publishing the weekly Som Prakash.

(D) Minutes on Indian Education by Thomas Macaulay.
Choose the correct answer from the options given below :
(1) (A), (D), () and (B)

@) (D), (C), (B) and (A)

3) (O, (D) (A) and (B)

(4) (B), (D), (C) and (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 53307211372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freaferfad it Tel FempEn | sEi S (TR 9 96) ¢
(A) TR o fram fade

(B) HETH ¥ o HHIS hl T

(C) Fvar =iz fommann = gmifes | wawm’ Ry R
(D) e Herel g 9RdrE fosn deift T (fae)
= feu o fawedi # 9 et IR & 99 Fif

(1) (A), (D), (C) ¥ (B)

(2) D), (O) (B) &R (A)

3) (O, (D), (A) 3R (B)
(4) (B),

Options :

1.1

2.2

3.3
4.4

(D), (C) 3R (A)

Question Number : 102 Question Id : 53307211373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Decide the sequencing of the following (earliest to recent) :

(A) The Montagu Chelmsford constitutional Reforms led to the transfer of Public Health, Sanitation
and vital statistics to the provinces.

(B) The famine of Chalisa which was spread to Punjab, Kashmir, Delhi and Rajputana.
(C) Foundation of Paramahansa Mandali in Maharashtra for socio-religious reform movements.
(D) The Bombay Chronicle (newspaper) started by Pherozeshah Mehta.

Choose the correct answer from the options given below :

(1) (), (C), (D) and (A)

@ (O (B) (A) and (D)

(3) (A), (B), (D) and (O

(4) (D), (B) (C) and (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 102 Question Id : 53307211373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frifera 1 otk H Saftym Fifse (Ted ¥ 91%) ¢

(A) Wi IIHEE AR GUR Foeh Forasy gl § Frasie @, Tl SR Sia-H0 ga
FEFET 1 ST g1 |

(B) =weira = gfifer S T, wYHR, fooet SR Torgarn H Sew o |

(C) EmIfSTeh- e YR Sl o g Hewree § qHed Heel i T4 |

(D) TwrsTome Fedr GRI Sl Shifvehel (THTER T9) o1 R |

= fou 7o fosmedl | ¥ W&t ST 1 = i

(1) (B), (O), (D) 3 (A)

@ (©), (@), (A) 3R (D)

(3) (A), (B), (D) #R (C)

(4) (D), (B), (C) 3R (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 53307211374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following incidents/ events in their chronological order (earliest to recent).
(A) Partiion of Punjab and Rehabilitation

(B) New Education Policy, 2020

(C) The first States Reorganisation Act

(D) Globalisation of Indian Economy

Choose the correct answer from the options given below :
(1) (A), (O, (D) and (B)

() (C), (D), (B) and (A)

(3) (D), (O) (A) and (B)

4 (8, (D), (C) and (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 53307211374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FeAifeRa 1 SFrerTgeRn § SHafed Hifae (T80 § a15)
(A) HaTe Tl faveE SR g
(B) 3 fuan =i, 2020
(C) Wu¥ TsF YHied STfur=m
(D) YR syefeaeee] l Sveihiol
e few o faered # | W 3T & TFA Hio
(1) (A), (C), (D) 3 (B)
2) (), (D), (B) 3 (A)
(3) (D), (C), (A) 3R (B)
4 (B), (D), (O) 3R (A)
Options :
1.1
2.2

3.3
4.4

Question Number : 104 Question Id : 53307211375 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Decide the order of the following movements (earliest to recent) :

(A) Self Respect Movement started by E.V. Ramaswamy and A. Balija Naidu
(B) Satyashodhak Samaj founded by Jyotiba Phule

(C) Aravipuram Movement started by Sri Narayan Guru Dharma Paripalana Yogam
(D) Justice Movement started by C.N. Mudaliar, T.M. Nair and P. Tyagaraja
Choose the correct answer from the options given below :

(1) (A), (B), (©) and (D)

@ (), (), (D) and (A)

(3) (), (A), (B) and (D)

(4) (D), (O), (A) and (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 104 Question Id : 53307211375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfaa aTieer! 1 FemTFe § sraftd FHfsn (Tee ¥ 9%):

(A) .31 THREE 3R T, Feien AEg g S-HEE SEe gy foar |
(B) I Fel BRI HeAHeh THIST okl TITAT |

(C) 4t A 7% Y GRYTe ArTH JRT STEEeqy sfiger R fea )
(D) ©I.UA. qefemr, .00 &R W, @S g = Sfee YR far T
e feu o faepedi # | W& IO FH 999 FIC

(L) (A), (B), (O) 3 (D)

2 (®), (C), (D) 3 (A)

@) (O, (A) (B) 3R D)

4 (D), (Q), (A) &R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307211376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the changing fashions of deing archaeology/archaeological perspectives, given below,
from earliest to the recent times.

(A) New and Processualist archaeologies

(B) Epigenetic model of evolution

(C) Diffusionist perspective

(D) Indigenous archaeologies/archaeology of cultural heritage

Choose the correct answer from the options given below :

(1) (©), (D), (B), (A)
(2 (©). (A), (B), (D)
() (B), (©) (A), (D)
4) D) (©), (B), (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 53307211376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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= fei T Qe o/ e qitied] % TiEdTeRl Taeg i WRiE 9 e 6 3T § sareed
HIo

(A) 7 UE weRH ol g
(B) SEfoRRTH o1 TSI Hisel
(C) fazrorrrd wftdes
(D) HiEHfaw fawaa &1 <¥i gae fagm
4 feu U fasked # | WE ST = HINT
(1) (©), (D) (B), (A)
2 (©, (A), (B) (D)
@) (), (O) (A), (D)
(4) (D). (©). (B). (A)
Options :
1.1
2.2

3.3
4.4

Question Number : 106 Question Id : 53307211377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following refer to forms of marriage alliance in early India ?
(A) Ashvamedha

(B) Anuloma

(C) Vajpeya

(D) Pratiloma

Choose the correct answer from the options given below :

(1) (A), B), (O (D)

(2) (B) and (D) only

(3) (A)and (C) only

(4) (A), (B) and (C) only

Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 53307211377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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rEE 9 § foere & gr & e § 9 w9 gefia €2

(A) TTeY
(B) smE™
(C) T
(D) wfdem

e feu 7o fasedi # 9 Qe ST & =994 FI
(1) = (A), (B), (C), (D)
(2) %Ed (B) 3 (D)
(3) = (A) 3R (C)
4) ¥ (A), (B) R (Q)
Options :
1.1
2.2

3.3
4.4

Question Number : 107 Question Id : 53307211378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to ‘Suttanipita’, the earliest Pali text, cattle should be protected because they provide

(A) food
(B) strength
(C) manure
(D) beauty
(E) happiness
Choose the correct answer from the options given below :
(1) (A), (B), (O), (D) only
(2) (B), (Q), (D), (E) only
(3)  (A), (B), (D), (E) only
(4) (A), (O), (D), (E) only
Options :
1.1
2.2

3.3
4.4

Question Number : 107 Question Id : 53307211378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR e U A’ o STTER, TAeE] T S0 I Aiey; e 9 g6 JaH B © ¢
(A) rSH

(B) W
(€) =
(D) dr<d
(E) W&

= feu o fomed! # ¥ TWE I H T99 BT
(1) %= (A), (B), (C), (D)
(2) =9 (B), (), (D), ()
(3) F=E (A), (B), (D), (B)
(4) =€ (A), (C), (D), (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 108 Question Id : 53307211379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Varihamihira's ‘Brhat Samhita’ talks about :

(A) method of measuring the amount of rainfall

(B) astronomical observations

(C) construction of houses and temples

(D) grafting of plants, and ways to increase fruit yield
Choose the correct answer from the options given below :
(1) (), (C) and (D) only

(2) (A), (B) and (D) only

(3) (A), (B) and (C) only

4 (A), B), ©, (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 53307211379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FEAfet &l ‘geq diear’ | fifwa = aua € ¢
(A) =i 1 HET F H9A 6 fafy
(B) EOTATET (@t Yarm)

(C) =¥ 3R wfey = fmior
(D) Il % 499 IR Fe oA H 3fg F ol E
e feu o faeped # | W& 3T FH 999 FIC
(1) = (B), (C) ¥ (D)
(2) % (A), (B) 3R (D)
(3) e (A), (B) 3R ()
(4) %=d@ (A), (B), (C), (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 109 Question Id : 53307211380 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

According to Kityayana, Vidyidhana (property acquired through learning) comprised :
(A) Property acquired by a scholar from his pupils.

(B) Property acquired by Sale of books.

(C) Property acquired as a reward for success in solving a difficult question or disputation.
(D) Property acquired as a sacrificial fees.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (), (©), (D)

4) (A), (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 109 Question Id : 53307211380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@A & AR, fornea (frm g efsia wafa) # wiaea © ¢
(A) Tordl fogm g0 &9 Tl & st Hofa

(B) el =i fershl & e g |

(C) Tordt =i ued o TwuA A1 wmrensd H Horerdl gRT QUERR (o) & &9 H 9 §ufd |
(D) & Yook o €9 H Y Guid |

= feu o famedi # 9 et IR & 99 Fife

(1) e (A), (B) 3R ()

(2) ¥ (B), (C) ¥R (D)

(3) = (A), (B), (C), (D)

(4) e (A), (C) S (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 110 Question Id : 53307211381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Texts associated with some earliest references of Ridhi as the devoted beloved of Krishna
include :

(A) Ashtangahridayasangraha

(B) Gitagovinda

(C) Harshacharita

(D) Brahmavaivartta Purana

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2)
3)
@)

(B) and (D) Only
(B) and (C) Only
(B), (C) and (D) Only

Options :

1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307211381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o] T GG JaEt (Toaam) o 9 H ‘U’ o grEEan el | Hetd g A A g eE 7
(A) FEFTRSTETE

(B) i Tifa=

(C) =R

(D) FEIEEEI

I feu o fasredi § | W& I F1 =9E S
() =@ (A), (B) 3R (Q)

(2) %94 (B) 3R (D)

(3) e (B) ¥ (O)

(4) %9 (B), (C) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 111 Question Id : 53307211382 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Of the fDllnwi_ng statements, which all are true ?

(A) The basic unit of the early medieval South Indian village life was ‘Ur’.

(B) ‘Ur’ simultaneously refers to the villages themselves as well as to the village assemblies

(C) ‘Ur’ was non-brahmadeya village.

(D) Corporate bodies such as the ‘nadu’, ‘sabha’, and ‘nagaram’ had nothing to do with the
assessment and collection of revenue.

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only

(3) (A), (B) and (C) Only

4) (A), (©) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 111 Question Id : 53307211382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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iR i O W W FYF el 2
(A) IR & AR H S0 WRda T Sfad i Terd E 3 o |
(B) ‘3 W [ o Y-y UM H off Heifera o
(C) ‘I T-=reT U ol
(D) ‘g’ ‘T’ S e SR STiie T U O gediehd SR WU 6 w5 9
= feu o fawedi § 9 et 3T &1 =99 FI
(1) e (A) 3T (B)
(2) e (C) SR (D)
(3) &= (A), (B) ¥R ()
(4) e (A), (C) SR (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 53307211383 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Of the fDllnwi_ng statements, which all are true ?

(A) Shaiva Siddhanta recognized three eternal principles-God (Shiva), the Universe, and Souls.

(B) The’Agamas’ are considered authoritative texts by the followers of Shaiva Siddhanta, Kashmir
Shaivism, and the Virashaiva tradition.

(C) The ‘Kapalikas’ and ‘Kalamukhis’ were two important Vaishnava sects.

(D) Vishnu 'bhakti’ became popular in South India due to the ideas and activities of the ‘Nayanar’
saints.

Choose the correct answer from the options given below :
(I) (C) and (D) Only

(2) (B) and (C) Only

(3) (A) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 112 Question Id : 53307211383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freAferfag oAl 8§ 9 9 9 %o 98 8 2
(A) 39 Tagia &9 smeen fagidi-gven (om), swTiE 3 sem-h1 @i 9eH i ¢ |
(B) Fa fugia, YR 1 Iaare &R e T F AgAfEEi gRI ' e’ wrEiforeR Y HH S E
(C) ‘wiferr’ &R FrempE’ & W oy WueE & |
(D) ‘AR’ gl % foami o sweewerdl % wror efaor yra # Jerg vfsa wrenfug g |
= feu o fasedi § | W S 1 =9 i
() = (C) 3R (D)
(2) %= (B) 3R (O)
(3) FEA (A) (D)
(4) e (A) SR (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 113 Question Id : 53307211384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about mansabdari system ?
(A) All mansabdas, in theory, were appointed directly by the emperor.

(B) Princes of the royal family and leading nobles of the empire recommended persons for the
appointment.

(C) All mansabs above 7000/7000, were reserved for the princes of Imperial family.
(D) The only noble, who was awarded the rank 9000/9000 was Mir Jumla.

Choose the correct answer from the options given below :

(1) (A) and (B) only

() (B) and (D) only

(3)  (A), (B) and (C) only

(4) (A), (O and (D) only

Options :

1.1

2.2

3.3
4.4

Question Number : 113 Question Id : 53307211384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TEEER e F Heyf H faeiftea § € 1 9 e we €2
(A) Togiad: Tt TAEeRR HY IEE g1 g R S 9
(B) YEl U@ % TSIFHR SN Amg % v R ffe & fau safadl 1 s &
(C) 7000/7000 § T F | AT Wl GRAR F TFFAN * fora sfard o)
(D) TFHHTA THIT W JHAT 1 9000,/9000 I T TS i TE off |
e feu o faepedi # | W& I FH 99 I
(1) e (A) 3 (B)
(2) e (B) $ (D)
(3) & (A), (B) ¥R (Q)
(4) FFE (A), (O) ¥ (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 53307211385 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which statements are correct about the Karkhanas (workshops) in Delhi Sultanate ?

(A) According to the Masaliku'l Absar, Muhammad Tughlug had in his embroidery workshop

4000 silk workers and as many gold - brocade weavers.
(B) Afif calls royal workshops karkhanas, which under Firoz Shah Tuglag, numbered 100.
(C) Many were subsidised (ratibi); others were supposed to pay for themselves (ghair-Ratibi).
(D) The ghair-ratibi included workshops for robe-making, banner-making and carpet-weaving.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (C) and (D) Only
(3) (C) and (D) Only
4) (A) and (C) Only
Options :
1.1
2.2

3.3
4.4

Question Number : 114 Question Id : 53307211385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faeett Toaa | FrREr & ded § frefafes § 9 #5593 Fe aa €7
(A) THITAF-30- TGN F TR oW IeTh i FUIGRERT i HEe H 4000 fek Frm & iv
F¥epl | i S o FER 9|
(B) 3THIT A T IMEl Fw@M & A1 fea, TRisione qietsh o 9= Fia | 3eh! §&A 100 o |
(C) ¥gd ¥ FREM Tfee (T-9 Taradl W) &, a0 37 HREH Wigdfed o (R afdsl) |
(D) T fesll # TSR ek, SR S a1 el a1 9l FEH aiHe 9 |
= few 7o fosmed | § W&t ST 1 = i
(1) & (A), (B) 3R (O)
(2) FE (A), (C) IR (D)
(3) e (C) SR (D)
(4) A (A) SR (C)
Options :
1.1
2.2

3.3
4.4

Question Number : 115 Question Id : 53307211386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which statements are correct about trade and commerce in medieval period ?

(A) The Gujarat silk industry was entirely dependent on the import of raw silk from China in
course of the seventeenth century.

(B) Bengal received a quantity of opium from Bihar.
(C) Gujarat received lac from Bengal for the manufacture of lacquerware.

(D) Bengal’s manufacture of counch-shell ornaments was based on the import of counch shells
from Tuticorin.

Choose the correct answer from the options given below :
(1) (A) and (B) Only

() (A), (B) and (C) Only

(3) (A), (C) and (D) Only

(4) (B), (O) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 115 Question Id : 53307211386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR § SR SR i % oo # 1 1§ 9 i 8§ wem we ¥ 2

(A) T T ST Weedl 9ol § = | Tl W9 F S I qoid: iR o
(B) TIET %Rl STRIH ki Wit forer | &l of |

(C) o % I&qafi o 0 o foe TTomra 1 amg (Sner) e | 9 e o |
(D) 9@ o YT FFH Al ST o fafmia qeiehiid 9 | o s WA 4
e feu o faepedi # | W& I FH 99 I

(1) e (A) 3T (B)

(2) FE (A), (B) 3R (C)

(3) A (A), (C) IR (D)

(4) e (B), (C) 3 (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 116 Question Id : 53307211387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which following statements are correct about the religious policy of Akbar ?
(A) He had abolished pilgrim tax.

(B) He built Ibadatkhana at Sikri in 1580.

(C) He proclaimed ‘Mazhar’ in 1579.

(D) He founded Din-i-llahi.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A) and (B) Only

(3) (A), (C) and (D) Only

(4) (A), (B), () and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 116 Question Id : 53307211387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ITFa 1 wIfer ifa & deo & fefafes § § #0 9 wom 98 €2
(A) 3HA dEEET g R

(B) 394 9 1580 H Hiedl H segaw@Em 1 fAuior sam |
(C) 3T 1579 ¥ ‘wstet’ =Y =iwon = |

(D) 38 FF-U-ZER A |

= fou o faepedi # | W& I FH 99 I

(1) e (A), (B) 3R (C)

(2) e (A) 8T (B)

(3) A (A), (C) IR (D)

4) (A), (B), (O) ¥R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 53307211388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which statements are correct about the incidents of ‘strikes’ of merchant and artisan class in medieval
period 7
(A) The Surat baniyas went on sirike in protest against a forced conversion to Islam in 1668-69.

(B) According to European Traveller Thevenot, at Bag-nagar, the Hindu bankers shut up their
offices in protest against an amir’s exactions.

(C) In 1686, the entire Indian population of Madras went or strike under the order of the heads
of castes to protest against a tax levied by the English.

(D) Abbe Carre in the seventeenth century wrote that in kammalans (artisans) caste, if one of
them is offended or wronged, all the others shut their shops.

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (C) and (D) Only

4) (A) (B), (©), (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 53307211388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T B ARG 2R FRH &1 g’ #l = E e d fFefafen 8 8 S A e gd § 2

(A) T 1668-69 § ™ ¥ aal yH-9Redd & favg g & o941 3 geae o off |

(B) g@uwﬂéﬂﬁ%aﬂwﬁw%ﬁ%ﬁﬁwﬁﬁaﬁﬁa@fﬁ%ﬁmﬁmmaﬁw

|

(C) = 1686 H HEE = HHE] YRAM SHal AU gH ARG L % fol J Sfd 96 % S0y ®
2T T e T |

(D) HAeal gal H a1 Y A Tora fof e (FER) Sfd & Afs e s1omifaa wegs T o 91 39
Y F TTera e srar o @ et i oo g w S 9

A faw g ferered ® 9 W@ SR wEA wife

(1) =4 (A), (B) ¥R Q)

(2) %= (B), (O) 3R (D)

(3) A (C) ¥ (D)

(4) %9 (A), (B), (O), (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 53307211389 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which following statements are correct about the condition of women ?

(A) The Rashtrakuta King Amoghvarsha, regularly employed courtesans as his emissaries.

(B) Chalukyan Princess Akkadevi carried on the administration of province.

(C) Ibn Batuta saw in Hanaur (South India) thirteen (13) schools for the instruction of girls and
twenty-three for boys.

(D) Varthema (1505) about Vijayanagar wrote that the ladies go with their faces quite covered.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (O) and (D) Only

(3) (A), (C) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 53307211389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hfgenaii &1 frofa & an 7 i A T FF I FR TR E?
(A) TeZe TS STHEad TRl s i 9 o e7ae ga fge e 9
(B) I 91 il USTHHRI Aeepiaall o Wid o VI ol HENR HHTe |

(C) 7= aqan A TR (feqor ) ¥ anfermsti ot faen & forg T (13) Wha @i arerent o fore a) wha

g o |
(D) fosmr o an # ¢ (1505) A foran foF Afeamd 799 =@t &1 90 93 T L ded S off |
= fou e fasedi ® | W ST F1 =9E FifaT
(1) &= (A), (B) 3R (Q)
(2) = (B), (C) ¥ (D)
(3) F=E(A), (C) ¥R (D)
(4) I (A) T (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 119 Question Id : 53307211390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about education in Mughal period ?

(A) Peter Mundy refers to a college of Jesuits at Agra.

(B) Maham Anaga’s madarsah Known as Khairul Manzil, was called Madarsa-i-Begum by

Badauni.
(C) Shah Jahan built Madarsa-i-Rahimiya in Delhi.
(D) Aurangzeb built Darul Baga in Delhi.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
() (B), (C) and (D) Only
(3)  (A) and (B) Only
(4) (B) and (C) Only
Options :
1.1
2.2

3.3
4.4

Question Number : 119 Question Id : 53307211390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el YA e foren & e # freifwa § 9 w9 9 e w6 E2

(A) W HE A A0 H Y A (S4Ee) F Heloae 1 3oy fFa €
(B) HIEH ST o HETHT il Weat Witet o AW ¥ Uiog o, el 3 38  Hevs- -5 T T & off |
(C) estel A fecett # wewa-u- wWifiar = faim foan

(D) @S 4 fooell H greet k1 1 fAmior faan |

= feu o faered # | W& I FH 999 FIT

(1) e (A), (B) 3R ()

(2) FE (B), () 3R (D)

(3) e (A) 3T (B)

(4) FFE (B) 3R (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 53307211391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding the growth and development of paintings in 19th and
20t Century.

(A) Calcutta School of Art was setup in 1854.

(B) Kalighat paintings were developed in the Ist quarter of 19t Century.

(C) In 1905, Abanindranath Tagore debuted the painting of Bharat Mata.

(D) The 1903 Madras session of the congress had an exhibition of Ravi Varma'’s paintings around
the same time as the British awarded him the title Kaisar-i Hind (1904).

Choose the correct answer from the options given below :
(1)  (A), (©) and (D) Only

(2) (A), (B) and (C) Only

(3) (A), (B) and (D) Only

4) (B), (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 53307211391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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199 iR 205 Tt # feraeprdt =+t Tafs v fawm F =t § frefea wuel = faum Fif

(A) TFoTRdl ol 316 e o T 1854 H gE |

(B) et fareprt 195 |t & verm =gy (FE Far) H faewfaa g |

(C) |11905 T SFaAIAT R = HAGLH 9 Har skl =31 o= |

(D) T11903 | sTrEiferd i & werg stfudem o g awt o6 faaert o yesi ol off SiR e 369
Fe H S A 3% F U e (1904) F 3wfy

4 feu u fasked # | WE S = HINT

(1) & (A), (C) ¥ (D)

(2) T (A), (B) 3R ()

(3) A (A), (B) 3R (D)

(4) e (B), (O) ¥ (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 121 Question Id : 53307211392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Consider the followings statements regarding “the rise of the English power in Bengal'.

(A) The first English factory in Bengal was established at Hugli in 1651 under permission from
Sultan Shuja.

(B) J.Z. Holwell, one of the survivors of the ‘Black Hole tragedy” and the prime author of the

story, didn’t mention the names of the vichms.

(C) Atfter the battle of Plassey, the Nawab of Bengal made peace with Robert Clive by the “treaty
of Murshidabad’.

(D) Mir Kasim played the disgraceful role of ‘colonel Clive’s Jackal'.

(E) The battle of Buxar was fought between the combined armies of three powers (Bengal, Oudh
and Delhi) and English army commanded by Major Munro.

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

() (A), (B) and (C) Only

(3) (A), (B) and (D) Only

(4) (B), (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 121 Question Id : 53307211392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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STt B IS YA % 399 & W) H (iR el W o wife

(A) QoM IS 1 ST | T 1651 | ST °F gl o SIS R Teel Heed e g |

(B) ;&Q&ﬂa%ﬁ'%wwaﬂiww%umﬁwﬁ%@ﬁa&aﬁﬁ%ﬁ%wmm

feran |

(C) eIt % g5 o a1E Se & Aare A ' gfifereng @i’ & mem | el Farzs F W wifa enfod e

(D) WR FIfaq 3 ‘e Foard & fFan’ #t sy it g

(E) RR I g3 O T T wiFadi (e, /@y i foeedl) qen BoR g9 F gerafae § Sfs
TN o HeA ST

= feu o fasredi § | WE S F 999 FIfO

(1) o (A), (B) 3T (E)

(2) %EE (A), (B) 3R (C)

(3) S (A), (B) 3R (D)

(4) ¥4 (B), () 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 122 Question Id : 53307211393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which are the following statements regarding 1857 uprising are correct ?
(A) V.D. Savarkar described it ‘a planned war of National independence’.

(B) Savarkar tried to prove that the rising of 1826-27, 1831-32, 1848, 1854 were rehearsals of
1857.

(C) T.R. Holmes popularised the view that the revolt of 1857 was ‘a war of fanatic religionists
against Christians’.

(D) James Outram and W.Taylor described the Outbreak as a result of Hindu-Muslim conspiracy.

(E) L.E.R. Rees termed the uprising of 1857 as ‘conflict between civilization and barbarism’.

Choose the correct answer from the options given below :

(I) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

(4) (©), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 122 Question Id : 53307211393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T 1857 F HermR & R § f=ifea § 8 #9 4 Fum T 7

(A) SN2 TR A W TEE A @ T 98 F e e

(B) %am Z =% fag A 1 9amE TR foF 1826-27, 1831-32, 1840, 1854 % fagTe, 1857 % W= &
2T ¥ |

(C) L3N B8 4 8 Ta &l T=R o foF 1857 1 forsie ' sumedi <F foeg shgdell wviereiterl o1 5" o1 |

(D) ¥ #if3zH i gac], 2o A 39 WeEwL &l ' feg-qie wgd=’ & gRom 54 |

(E) T E SR-T9 7 1857 F Heldw ! AN ' §3gal 3R F6d & 7eF §99' &6 €9 § &7 |

= fou Tu faered] # | WE 3T FH =97 FHIEC

(1) = (A), (B) ¥R (C)

(2) %= (B), (O) ¥R (D)

(3) FE (A), (B) 3R (D)

(4) ¥4 (Q), (D) ¥R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 53307211394 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following three statements regarding famines are correct ?

(A) In 1880 the Government of Lord Lytton appointed Strachey Commission.

(B) Lord Curzon appointed a Commission under the presidency of Sir Anthony MacDonnell,
which submitted its report in 1901.

(C) The Famine of 1876-78 affected Madras, Bombay, Uttar Pradesh and Punjab.

(D) The Famine of 1866 affected Rajpatana, the Punjab, Central Provinces and Berar and
Marathwada.

Choose the correct answer from the options given below :
(1)  (A), (©) and (D) Only

(2) (A), (D) and (B) Only

(3) (A), (B) and (C) Only

4) (B), (©) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 53307211394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I1eRTel % e 7 frfafea § 9 w8 3 39 Fum 98 ¥ 2

(A) 99 1880 H e fored LR 7 THl FH9H Tied foran |

(B) %%Wﬁmwﬁmaﬁﬁwaﬁm(ﬁm)wf‘aaﬁmmuﬁaéwmﬁawﬁ
|

(C) = 1876-78 % STt 4 WEMH, S9s, I9¢ U9l SR el ol gufod forman |

(D) @Y 1866 % STeRIcl ¥ TSIYAI, U7/, HEAWd AR SR a1 AUSarel =1 guifea foman |

4 feu u fasked # | WE S = HINT

(1) = (A), (C) ¥ (D)

(2) e (A), (D) 3 (B)

(3) A (A), (B) 3R (O)

(4) %9 (B), (C) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 53307211395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the fn]lowing statements regarding Indian Press during British period.

(A) The Licensing Regulation, 1823 required : (a) Every printer and publisher to obtain licence
for starting a press or using it; (b) The Governor-General had the right to revoke licence or
call for a fresh application.

(B) The emergency caused by the Uprising of 1857 led the Government to reimpose restrictions
on the press. Act XV of 1857 reintroduced licensing restrictions in addition to the existing
registration procedure laid down by the Metcalfe Act.

(C) In March 1941, the Government of India appointed a Press Enquiry Committee and charged

with the dulj,,F of examination of the press laws.

(D) The Newspapers Act, 1908 empowered the Magistrates to confiscate printing press, property
connected thereto of newspapers which published objectionable material which served as
incitement to murder or acts of violence.

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3)  (A), (©) and (D) Only

(4) (A), (B) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 53307211395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafew =h1e1 % SRF IR U9 % Hed # frfefed weuEi w for=m e

(A) <eEfET fafmeaa, 1823 & fau sTewa® of : (a) TOF e A YN hl OH AN FH A THF
I 3 foru SedE UTe ST (b) T SRS 1 ARl T A AT WA O W stfeeR
o |

(B) 1857 % W™ ¥ 39— =1qr feerfa 3 fafewr wan =0t 909 w9 wfoay o & fore s fof
Teetn sifufram ¥ feafaa vd 38 g yureht dsie ufskan & sifaftaa 1857 & fram dge A
arEEfET-ufe 1 grdfenfu fean

() gﬁq{1941ffwwﬁw‘ﬁqa‘hqﬁﬁ’maﬂzﬁﬁHW$ﬂmﬁﬁﬁwmaﬁqa

I

(D) TEER v Afuftay, 1908 7 Aferee 1 T guERwEl F G i 9 o= gefedt e w3 w®
st § e, forml wemfom smafasmer o féan =1 g =1 3am &4 9

A= fou o fasredi | | WE 3T 79 FIW

() 9 (A), (B) 3R (C)

(2) = (B), (O) 3T (D)

(3) = (A), (C) R (D)

(4) 9 (A), (B) 3 (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 53307211396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the fD].lDW]'_ng statements regarding the growth and development of education in India in

19t century.
(A) Charter Act, 1813 provided for an annual expenditure of one lakh rupees for education in
India.

(B) Charles Wood's Despatch on Education, 1854 declared that the aim of Educational policy
was the teaching of eastern education.

(C) The Hunter Education Commission 1882-83 was appointed ‘to enquire into the general
working of the Indian Universities.”

(D) During the orientalist - Anglicist controversy, the group of Orientalist was led by H.T. Princep
who advocated the policy of giving encouragement to oriental Literature.

Choose the correct answer from the options given below :

(I) (A) and (B) Only

(2) (A) and (D) Only

(3) (B) and (C) Only

(4) (B) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 53307211396 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1941 |E1 § vra H foen & o & an § frifea oA w fa=m Fifu
(A) =reT sfufEm, 1813 § wa H e & 7 § Us @@ ©9U F aifties 599 1 WaH™ o |
(B) el g % ferta =11 WSphYH, 1854 H Sraom =t ¢ b Sterforer ifa o 3zvg ol foen =1 eremm

(feraron) € |

(C) YRd & favafaeraal & AW framrsard & S & & 70 1882-83 § €21 fren sEmT =1 T4
[ERIREE

(D) Wr=A-aTive Taane & <M, WreAanedl % e &1 g .. i 3 fear o) 3 ure anfeey & wem
YT 1 Sl 31 % 9EHE 9|

et few o faeped! # & WE 3T F = Hife ;
(1) &= (A) #R(B)
(2) = (A) @R (D)
(3) & (B) 3R (O)
(4) = (B) 3R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307211397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Designation) (Details)
(A) Pradesikas (I)  Departmental officials
(B) Adhyakshas (I)  Village officers
(€) Nagaraka (IlT)  Provincial governors
(D) Gramini (IV) City officers

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(1I), (C)(I), (D)-(IV)

(2)  (A)(D), (B)-(LI), (O(1V), (D)-(1I)

(3)  (A)-(II), (B)-(I), (C)-(1I), (D)-(IV)

) (A)-(), (B)-(I), (O)-(1V), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 126 Question Id : 53307211397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T - 1 % 91 Gl - 111 e it
Tt - 1 et - 11

(ug) ( feraor)
(A) wefeER () favria st
(B) 1eAd (1)  -SFeRr
(C) R (III) Wie™ e
(D) TR (IV) -yl

el few g fereredl H & W& IR H =EA HOC
(1) (A)D), (B}-(ILL), (C)-(I), (D)-(IV)
(2 (A)-D), (B}-(ID), (CO(IV), (D)-(I)
(3) (A, (B)-(L), (C)-(1I), (D)-(IV)
(4)  (A)-(II), (B)-(T), (C)(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 127 Question Id : 53307211398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Names) (Area associated)
(A) Kurus (I) Kosala and Ayodhya
(B) Aikshwvakus (If) Southward
(C) Vidarbhas (III) Panchala
(D) Haihayas (IV) Central India, Malwa and Gujarat

Choose the correct answer from the options given below :
(1)  (A)-(I), (B)-(I), (C)-(II), (D)-(IV)

(2)  (A)-(1), (B)-(IL), (C)-(1V), (D)-(D)

(3)  (A)-(LV), (B)-(IIL), (C)~(11), (D)-(I)

4)  (A)-(I), (B)-(III), (O(IV), (D)-(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 127 Question Id : 53307211398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T - 1 % 91 Gl - 111 e it
Tt - 1 et - 11

(7 ) (dag &)
(A) F® () =rEa 3R e
(B) zEETH (1) =feaom &=
() famsd (1) ™=
(D) & (IV) =T 9, HieTal 33 TR

= fau U fasked] H & Wé I 1 T BT
(1) (A, (B)-(L), (C)-(I), (D)-(IV)
(2) (A, (B)I0), (O)-(1V), (D)-(I)
(3)  (A)IV), (B)~(IL), (OID), (D)-(I)
(4) (A1), (B)-(IIL), (C)-(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 128 Question Id : 53307211399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Texts) (Details)
(A) Rta (I)  Explained the Sacrifices
(B) Samaveda (IT)  Guided the priests in the details of the rituals
(C) Yajurveda (ITI) arranged hymns for the purpose of chanting
(D) Brahmanas (IV) the principle of law which operated in the Universe and in man

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(I), (C)-(I), (D)-(II)

(2)  (A)-(1L), (B)-(ID), (C)-(1V), (D)-(D)

(3)  (A)-(IV), (B)-(IIL), (C)~(11), (D)-(I)

4) (A)-(I), (B)-(IV), (C)-(I), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 128 Question Id : 53307211399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T - 1 % 91 Gl - 111 e it
Tt - 1 et - 11

() ( fererror)
(A) A () == afa # e # T T
(B) TMEE (1) zEH gefiEl # sTger (FHEve) F He § Anfee g
(C) Iee (111) 3= o & fafem W @ Seer 7
(D) W& (IV) 35 FEe 3R 999 &1 Hefaa & g fafy-fagr €

el few g ferered H & WE IR H =EA HO
(1) (AHIV), (B)-(LIL), (C)(I), (D)-(IT)
(2) (A, (B)I0), (O)-(1V), (D)-(I)
(3)  (A)IV), (B)~(II), (OID), (D)-(I)
(4)  (A)-(II), (B)-(1V), (O)-(L), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 129 Question Id : 53307211400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Names) (Areas associated)
(A) Iksvakus (I)  Western Deccan
(B) Kadambas (If)  Krishna-Godavari region
(C) Vakatakas (ITlT) Chhattisgarh region
(D) Sarabhapuriyas (IV) Norhtern Deccan

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(II), (O)-II), (D)-(1V)

(2 (A)-ID, (B)-(I), (O)-1V), (D)-(I)

(3)  (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)

(4)  (A)-(IV), (B)-(IIT), (O)~(II), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 53307211400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T - 1 % 91 Gl - 111 e it
Tt - 1 et - 11

() (dag &)
(A) 3&9TF () afeEE SFed
(B) Herd (1) FoM-TNerer] &
(C) dTFRH (L) SerETE &5
(D) YRYYIE (IV) I R4

el few g fereredl H & WE IR =EA H
(1) (A0, (B}-(ID), (C)-(1I), (D)-(IV)
(2) (A1), B)-(D), (O~(IV), (D)-(I)
(3) (A, (B)-(IV), (C)-(I), (D)-(IT)
(4)  (A)IV), (B)-(IIL), (C)-(ID), (D)-(L)
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 53307211401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Kings/Dynasties) (Associated with)
(A) Harsha (I) Tondaimandalam area
(B) Lalitaditya Muktapida () Pushyabhuti ruler
(C) Pallavas (II) end of ‘matsyanyaya’
(D) Pailas (IV) Karkota dynasty

Choose the correct answer from the options given below :
(1) (A)-(LV), (B)-(1), (O)-(1), (D)-(II)

(2)  (A)-(IV), (B)-(1T), (C)-(1), (D)-(I)

(3) (A1), (B)-(IV), (O)-(I), (D)~(1I)

4) (A)-(1D), (B)-IV), (O)-(LD), (D)-(d)

Options :

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 53307211401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it

-1 T - 1L

( TrsT/TSTE) (¥ Heg)
(A) = () dvEnUgem &
(B) wfcrarieed Haamdis (I)  geayfa 9IreeR
(C) TeEd (1) ‘W=’ &l afa
(D) e (IV) FHHRE 99
= fou o faswedi § 9 [E 3T F 9E FE
(1) (A)-IV), (B)-(1D), (O)-1), (D)~(11I)
(2)  (A)IV), (B)-(11), (O)-), (D)-(I)
(3)  (AALD), (B)-(IV), (O)-(1), (D)~(11D)
4) (A)-(ID, (B)-(IV), (O)-1), (D)-(D)
Options :
1.1
2.2

3.3
4.4

Question Number : 131 Question Id : 53307211402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Names) (Compositions)
(A) Somadeva (I)  Brhat - Kathamanjari
(B) Kshemendra (Il) Kathasaritasagara
(C) Kalidasa (III) Kuttanimatam

(D) Damodara Gupta (IV) Rtusamhara

Choose the correct answer from the options given below :
(L A1), (BRI, (O~IV), (D)-(II)

2) (A1), B)-@), (O~IV), (D)-(1L)

(3)  (A)-(IV), (B)-(1II), (C)-(IT), (D)-(T)

(@)  (A)-IV), (B)-(I), (O)-(I1I), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 53307211402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T - 1 % 91 Gl - 111 e it
Tt - 1 et - 11

(=) (T=T)
(A) EmeE (0 T-SHTHST
(B) &H= (1) FIERETR
(C) e (1) FArTan
(D) BT T (IV) HgHeR

el few g fereredl H & WE IR H =EA H
(1) (A0, (B}-(ID), (C)-(1V), (D)-(IID)
(2 (A1), B)-(1), (O~(IV), (D)-(I)
(3)  (A)IV), (B)~(I), (OID), (D)-(I)
(4)  (A)IV), (B)-(11), (CO)-(ILD), (D)-(I)
Options :
1.1
2.2

3.3
4.4

Question Number : 132 Question Id : 53307211403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Rural Classes in Vijayanagar Period) (Their Roles/Meaning)
(A) Maniyam (I) Watchman
(B) Karnam (II) Headman
(C) Talaiyari (III)  Accountant
(D) Niranikkar (IV) Waterman

Choose the correct answer from the options given below :
(1) A1), (B)-(IV), (C)-(1), (D)-(II)

(2 (A1, (B)-(ID, (©O)-(1V), (D)-1)

(3)  (A)-(1L), (B)-(ILD), (C)-(I), (D)-(IV)

4)  (A)-(IV), (B)-(1ID), (C)-(II), (D)-(T)

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 53307211403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it
et - 1 T - 11

( Fersraerme @ret W o &) ( TRt yfirenr (21ef))
(A) wfoEw (n w=Hh
(B) Ui (I Hfge
(C) aeral (III) EEHR
(D) fHfae (1v) oyt

= fau Tu fasked] H § Té I 1 T BT
(1) (A0, (B}(IV), (C)-(IIL), (D)-(IT)
(2) (A1), (B)-(), (O)-(1V), (D)-(I)
(3)  (A)(ID), (B)-(), (C)-(1), (D)-(IV)
(4)  (A)IV), (B)-(IIL), (C)-(ID), (D)-(I)
Options :
1.1
2.2

3.3
4.4

Question Number : 133 Question Id : 53307211404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- I List - II
(Offices of Ashta Pradhan) (Ministers Under Shivaji)
(A) Peshwa (I) Annaji Datto
(B) Mazumdar (Amatya) (II) Dattaji Trimbak
(C) Surnis (Sachiv) (IIT) Moro Trimbak Pingle
(D) Wagenavis (IV) Ram Chandra Nilkanth

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A)-(1V), (B)-(1L), (C)-(I), (D)-(IT)

(3)  (A)-(I), (B)-(II), (C)-(LI), (D)-(IV)

4) (A)-(I), (B)-(IV), (C)-(I), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 133 Question Id : 53307211404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it
T -1 T - I

( ereEyem siferanTd ) ( vt (Forarsit & ymER wIer H ) )
(A) TET () a7t <5
(B) HSHER (&HI) (I) SISt sowaieh
(C) G (|f=a) (1) wr v fome
(D) g (IV) T=ig Aieehos

el few g fereredl H & WE IR H =EA HOC
(1) (A0, (B}-(ID), (C)-(1I), (D)-(IV)

(2)  (A)-IV), (B)-(ITD), (O(T), (D)-(I)

(3) (A, (B)-(ILL), (C)-(IT), (D)-(IV)

(4)  (A)-(II), (B)-(1V), (O)-(L), (D)-(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 53307211405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - IT
(Popular Mughal Painting) (Painter)
(A) Majnun in the Wilderness with an emaciated Horse (I) Basawan
(B) Siberian Crane (I)y Ustad Mansur
(€) Chinar tree with hosts of squirrels (III) Abul Hasan
(D) Portrait of Bishandas (IV) Daulat

Choose the correct answer from the options given below :
(1) (A)-D), (B}, (O)II), (D)-(IV)

(2)  (A)-(I), (B)-(IID), (C)-(I), (D)-(IV)

(3)  (A)-(L), (B)-(11), (C)-(IV), (D)-(I)

(4)  (A)-(IV), (B)-(1I), (C)-(I), (D)-(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 53307211405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it
et - 1 T - 11

(ufeg werer dfem) QEECTED)
(A) oA 3 F Ty FoF & o W () agEA
(B) WIS HRE (1) SR Hg
() TR g8 | & 9t frewfar (1) ST ToA
(D) fererer =1 f==t (IV) e

el few g fereredl H & W& IR H =EA HC
(1) (A0, (B}-(ID), (C)-(11), (D)-(IV)
(2) (A1), (B)-(), (O)-1), (D)-(IV)
(3) (A, (B)<I), (C)-(1V), (D)-(I)
(4)  (A)IV), (B)-(IIL), (C)-(L), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 135 Question Id : 53307211406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Vaishnavas sects of Medieval Period) (Founders)
(A) Mahapurushia Sect (I) Vallabhacharya
(B) Pustimarga (II) Damodardeva
(€) Brahma Samhati or Bamunia (III) Purushottam Thakur
(D) Thakuria Sect (IV) Sankaradeva

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IL), (C)-(L), (D)-(II)

(2)  (A)-(IV), (B)-(I), (C)-(II), (D)-(10)

(3)  (A)-IV), (B)-(I), (C)-(I0I), (D)-(II)

(4)  (A)-(I), (B)-(II), (C)~(II), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 53307211406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it
et - 1 T - 11

( IEERTET R JO0TE TYETT ) ( HraTTE )
(A) WRIgEE TEEE () seavr=m
(B) Yftenni (I) THEeE
(C) w1 wefd =1 sfn (1II) TEUH ST
(D) STFHRE Hu=E (IV) vieTed

= fau Tu fasked] H § Té I T BT
(1) (AHIV), (B)-(LIL), (C)(I), (D)-(IT)
(2)  (A)AIV), (B)(D), (C)-(IT), (D)-(I)
(3)  (A)IV), (B)-(I), (C)-(IL), (D)-(1)
(4)  (A)-(D), (B)-(IT), (O)-(II), (D)-(IV)
Options :
1.1
2.2

3.3
4.4

Question Number : 136 Question Id : 53307211407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Book) (Author)
(A) Eighteen Fifty Seven (I) S.B. Chowdhuri
(B) The Sepoy Mutiny and the Rebellion of 1857 (II)  S.N. Sen
(C) Civil Rebellion in Indian Mutinies, 1857-1859 (II) S. Ahmed

(D) An Essay on the Causes of the Indian Revolt (IV) R.C. Majumdar
Choose the correct answer from the options given below :

(1) (A)-(ID, (B)-(IV), (O)-(ILI), (D)-(I)

(2) (A1), B)-(1V), (O-@), (D)-(1)

(3)  (A)-(I), (B)-(IL), (C)-(L), (D)-(IV)

(4)  (A)-(D), (B)-(IID), (CR(IV), (D)-(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 136 Question Id : 53307211407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it

Tt - 1 T - 11

(g ) ( orEe )
(A) TEH TRt doq () TEE, =
(B) = faufy wyfedi de g Wiad &iw 1857 (I) THTA. |4

(C) fafee weiferaa 39 sfega wfeds, 1857-1859  (III) TH. 318Wg
(D) TH THE 34 T FieS &A% 3 3fead fEee (IV) RH. TR
e feu U fasked H 9 Wé I 1 =T BT
(1) (A1), (B)-(1V), (O-1I), (D)-(I)
(2) (A1), (B)-(1V), (O-@), (D)-(I)
(3) (A, (B)}-(ILL), (C)-(II), (D)-(IV)
(4) (A1), (B)}-(III), (CO(IV), (D)-(IN)
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 53307211408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
(A) The August Offer () 1945
(B) The Cripps Mission (I) 1942
(C) The Wavell Plan (III) 1946

(D) The Cabinet Mission Plan  (IV) 1940

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

(2 A1), (B, (O~IV), (D)-(II)

(3)  (A)-LV), (B)-(1I), (O)-(ILI), (D)-(I)

(4)  (A)-(IV), (B)-(1T), (C)-(L), (D)-(I1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 53307211408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 111/122



8/30/24, 11:12 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Tt - 1 % T Gl - 111 e it
T -1 -

(A) STTE TS () 1945
(B) forew foem (I) 1942
(C) dad wH (IT) 1946
(D) Hfarre fiaem < (IV) 1940

== few 7o foshed | ¥ W 3T A = e
(D (A0, (B)-(IT), (O)-(I), (D)-(IV)
(2 (A)-(D), (B)-(ID), (O)-(1V), (D)-(I1)
(@) (A)-IV), (B)(ID), (O)-I1L), (D)-(I)
(4)  (A)-IV), (B)(ID), (O)-), (D)-(Im)
Options :
1.1
2.2

3.3
4.4

Question Number : 138 Question Id : 53307211409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

(Real Name) (Popular Name)
(A) Mulshankar (I) Ramakrishna Paramahamsa
(B) Narendra Nath Datta (II) Bhagini Nivedita
(€) Gadadhar Chattopadhyay (III) Swami Dayanand Saraswati
(D) Margaret Elizabeth Noble (IV) Swami Vivekanand

Choose the correct answer from the options given below :
(1) (A1), (B)-(1D), (O)~I), (D)-(1V)

(20 (A)-(0), (B)-(II), (O)~(1V), (D)~(II)

(3)  (A)-(), (B)-(IV), (C)-(I), (D)-(IT)

(4)  (A)-(D), (B)~(IV), (C)-(1D), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 53307211409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it
Tl -1 T - I

(aTeafaes ) ( wiresfua =)
(A) W () THF THEE
(B) = MU (1 wfr fafea
(©) TR HEdEAT (1) T TaFe JeEa
(D) T Tfdsmey Fed (Iv) @t faesm=<

el few g fereredl H & WE IR =EA Ho
(1) (A0, (B}(ID), (C)-(1I), (D)-(IV)
(2 (A, (B}(IT), (C)-(IV), (D)-(II)
(3) (A, (B)-(IV), (C)-(I), (D)-(IT)
(4)  (A)-(II), (B)-(1V), (O)-(1D), (D)-(I)
Options :
1.1
2.2

3.3
4.4

Question Number : 139 Question Id : 53307211410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Educational Institutions) (Founded by)
(A) Sanskrit College, Banaras (I) Raja Ram Mohan Roy, David Hare and
Alexander Duff
(B) Calcutta Madarasa (I)  Richard Wellesley
(or Muhammadan college)
(€C) Hindu College, Calcutta (1) Jonathan Dankan
(D) Fort William College, Calcutta (IV) Warren Hastings

Choose the correct answer from the options given below :
(1)  (A)-(L), (B)-(1V), (C)-(D), (D)-(II)

(2)  (A)-(HI), (B)-(IV), (O)~(II), (D)-(I)

(3) (A1), (B)-(ID), (C)=(II), (D)-(IV)

4 (A)-(D), (B)-(ID), (O)-(1V), (D)-(11)

Options :

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 53307211410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % T Gl - 111 e it
Tl -1 T - I

( Srerforer Heem ) ( HreTTe )
(A) TEFT Flo, TARE () T TR T, Sfae 7 iR ereeiet 3%
(B) heTRl WEEl (WgwAed ®ies) (1) T=E s@sel (Richard Wellesley)
(C) Te=g icrsl, sHerh (1) ST Eo6d
(D) e fafeay Fic, Faw (Iv) =iF efEm

el few g fereredl H & WE IR H =EA H
(1) (A, (B)-(1V), (C)(I), (D)(ID)
(2) (A, (B)-IV), (OID), (D)-(I)
(3) (A, (B)-(IT), (C)~(IIT), (D)-(IV)
(4) (A1), (B}-(IT), (O)(1V), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 140 Question Id : 53307211411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Peasant Movement) (Leaders)
(A) Bijolia Peasant Movement (I) Vallabhbhai Patel
(B) Bardoli Satyagraha (II)  Vijay Singh Pathik and Manikyalal Verma
(C) Tebhaga Movement (II) Baba Ramchandra
(D) Awadh Peasant Movement (IV) Kampram Singh and Bhavan Singh

Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-(1D), (OI), (D)-(IV)

(2 (A)-(1D), (B)-(D), (O)~(1V), (D)-(IIT)

(3)  (A)-(LD), (B)-(IV), (C)-(L), (D)-(II)

4) (A)-(I), (B)-(IV), (C)-(1D), (D)-()

Options :

1.1

2.2

3.3
4.4

Question Number : 140 Question Id : 53307211411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et - 1 % 91 Gl - 11 e it
Tt - 1 Tt - 1
( feram atiEem ) (9aT)

(A) fasifern feram s1icdem () ey 9B ged

(B) @RGIEl HeAWE (1) fasrg fee uferer o AforeReTe o9
(C) U S (1) = TS

(D) @@y fFam TR (Iv) =ym o 3t e foe

9 feu o faeredi § 9 W@ 3T 1 999 S :

(1) (A1, (B)-(0), (O)-(IID), (D)-(1V)

(2) (A1), (B)-(0), (O)(1V), (D))

(3) (A, (B){IV), (O~D), D))

(4) (A, (BHIY), (OH1, (D)-()

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 533072447
Question Shuffling Allowed : No

Question Id : 53307211412 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the following passage and answer the questions.

“The next important notion about the king was that he was the servant of the people. An early
Dharmsitra writer observes that the king is really a servant, the 16% tax being his wage. Kautilya at one
place points out how the king was on the same footing as his soldiers, both receiving their different
wages and both being entitled to share the assets of the nation. Narada also regards the taxation as the
king's pay for the prohz-ction of his people. No one ever makes a payment, says Aparﬁrka, without
expecting a return; the taxes therefore are paid only as a return for the protection expected from the
king. Since the people pay him the proper wage, the king must serve them as a servant, nay even as a
slave. This is of course a hyperbolic statement; the reality is hinted by Sukra when he describes the king
both as a master and a servant of the people.”

Sub questions

Question Number : 141 Question Id : 53307211413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The above passage refers about :
(1) The divinity of the king
(2) King as upholder of the moral order
(3) King as a trustee
(4) King as a public servant
Options :
1.1
2.2
3.3
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Question Number : 142 Question Id : 53307211414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An early Dharmsitra observes that “the king is really a servant, the 16% (1/6th) tax being his
wage.’

The referred Dharmasitra is :
(1) Baudhayana Sharmasutra
(2) Gautama Dharmsitra

(3) Vasistha Dharmsutra
(4) None of the above

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307211415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books points out that “the king was on the same footing as his soldiers, both
receiving their different wages and both being entitled to share the assets of the nation’ ?
(1) Aitareya Brahmana
(2) Arthasastra
(3) Manusmriti
(4) Vishnu Purana
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307211416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is considered as ‘the chastiser of kjngs’ in ancient texts :
(1) Indra

(2) Mitra

(3) Varuna

(4) Nasatya

Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 53307211417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The king has been described, both, as a master and a servant of the people by :
(1) Yajnavalkya Smriti

(2) Taittiriya Samhita

(3) Sukranitisara

(4) Narada Smirit

Options :

1.1

2.2

3.3
4.4

Question Id : 53307211412 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Frevifena Tz St s W ufew i fawme e & e i

S o ARCH STTEll WYl GRoT 98 off TR 9 ST o Ueieh & | ek IR JHgE oek A feouit 6§
Tep Trei S ok 211 € 3R 16% L 3T I | Tk §e hifecd A 39 o1 &l Seord fohan & foh Ten forg
WFR Y 379 AR F TOgeT o, S 1 3o 3term wiRgine foerar o o) SHT e i fwmta wen w9 F
THER & | ARG off ST T &N % A HH Y U H oqT WA € | 90k 1 FeA & foF i oft safaa wfawe
1 TG % o T o7a1 T A €, AqUE, FU F AT H GE U FH R GG d-h A § | G
ST T o1 sSfea iRafte s1e1 et §, T R siferda: T doae o w9 H, 6l 9 fF e % w9 § 39 dan
e =fen | ffvea w9 8 9o ifaemifayot wem §; end feufa 1 siorn 3 & orea § fierd € sel s T
ST A1 1 Tl SR o aHl o T4 H T g

Sub questions

Question Number : 141 Question Id : 53307211413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I9da e AR § § foRase g H § 2

(1) st =t feeaa

(2) Hfcer STeE Tl U0 Tad 9l 6 Y H Sl
(3) Tl % ®9 H TS

(4) SFHTE ok Y H T

Options :

1.1

2.2

3.3
4.4

Question Number : 142 Question Id : 53307211414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARfeR wvgs § feoeli =61 ¢ © R ST o 9ok © SR 16% 3R qREiHeE B
#ﬁ'ﬁ-’lﬁ‘?‘ﬁl{ﬂ%:

(1) = aHEEA

(2) T

(3) afrs yHg

(@) 3w H | HE T
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307211415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frifera ® & fobm o o Soo@ € fF e i frafa faafedi o v o, <F1 &1 etem-stem wiRafies
e on 3R S1 a2 i IRty 9en i % gHer 9|

(1) Uy s

(2) pefumrE

(3) WIS

(4) oo g

Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 53307211416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o= Teft ° freifer § 9 o9 el o IS ure T € 2

(1) ==
(2) T
(3) =&ET
(4) EE
Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 53307211417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freifera o B forgi T <61 9919 S o e SfR Taek gH1 % w9 W R @ ?
(1) e wfd

(2) dfeda wfed

(3)  YRHITER

(4) = Hfa

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072448
Question Shuffling Allowed : No
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Question Id : 53307211418 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions :

"The next phase of revolutionary activity in Maharashtra centres round Vinayak Damodar Savarkar,
who may be said to have been a born revolutionary. It is said that when the story of Chapekar brothers
reached him, he, then a boy of fifteen, took a vow before the goddess Durgﬁ to fulfil the mission of the
martyred Chapekars by driving out the British from India. In 1900, he started an Association at Nasik

called Mitra Mela. Its objective was political independence of India, and it emphatically asserted that
such an j_ndependence could be won, if need be, by armed revolt. In 1904, this Association was cleveluped

at Poona and adopted the new name, “Abhinava Bharata’, after Mazzini's Young [taly.

Sub questions

Question Number : 146 Question Id : 53307211419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is not referred to as ‘Chapekar brothers’ 7
(1) Dameodar Hari Chapekar

(2) Vinayak Hari Chapekar

(3) Balkrishna Hari Chapekar

(4) Vasudev Hari Chapekar

Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 53307211420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mitra-Mela was started by Vinayak Damodar Savarkar in the year 1900 at :
(1) Poona

(2) Bombay

(3) Ratnagiri

(4) Nasik

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 53307211421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A member of ‘Abhinav Bharata” was sent to Paris to learn the art of Bomb-making from Russian
revelubonaries. He was :

(1) Ajit Singh
(2) B.C. Pal
(3) P.N. Bapat

(4) Ganesh Damodar Savarkar

Options :
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1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307211422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To attain the objective ie. 'Political independence of India,” the “Mitra-Meld’ advocated the path
of :

(1) Petitions

(2) Armed revolt
(3) Conversations
(4) Memorandum
Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 53307211423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'Abhinav- Bharata” was :

(1) A secret society of revolutionaries
(2) A social reform organization

(3) A religious society

(4) An educational organization
Options :

1.1

2.2

3.3

4.4

Question Id : 53307211418 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Frefafes i = ofed ofr ot & so difa

“erre # shifaeer TfafafiEl @ eTen =R foAme SR TeieR % 38R hfea § o Serem
ShifcreRTE el ST Heha © | T el S € TR ot S =R siyeli 3 an W g, 59 9uE § Uge ad % 9ok o
IR R § S %l AeX Teed o YEie = a4 F MY 1 90w o oy spredt g o Jhe wue o |
ad 1900 T 3= AGF # st Hen A TS H Aia Tl | SHH IGevd TN Sl TSI Wadl foar o1 aen
W%mwﬁq&'mwﬁﬂmﬁ%m@maﬁaﬁmm%mdmﬁﬁﬁﬁ
F 7 gIEl | o AW W 3H TS 1 AW e Yra eftier foma

Sub questions

Question Number : 146 Question Id : 53307211419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Frrferfiaa # @ fordl ‘SR A 3 W @ e T R ST &2
(1) = B =e
(2) forreER B =R
(3) TEE BR =R
(4) =TgeE BR AU

Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 53307211420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 1900 H form@e THeT Ve g fas-Ha &1 YRy Fa fwar ma o1 ?
(1 T
(2) w2
(3) TR
(4) fEw
Options :
1.1
2.2

3.3
4.4

Question Number : 148 Question Id : 53307211421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

' afiye Wi & frefafea § 9§ o9 9ee o T shifdeidl § 8 M i e e o foe 9 s

RIE I |
(1) =7sfa fde
(2) @EaE
(3) HL.TA. 9me
(4) T SIS HEE
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307211422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IEeT 1 Wiftd ST ' 9Ra F Tefaes w=asa’ & faa  firs-gen’ T o1 UsIE o
(1) =nf=er
(2 T fage
(3) ardiemd
(4) A
Options :
1.1
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2.2
3.3
4.4

Question Number : 150 Question Id : 53307211423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
" eAfia-aRa e
(1)  ShifcerITeal =ht T el
(2) EHS GUR H1SA
(3)  enfifer Heen
(4) ifarr HreA
Options :
1.1
2.2

3.3
4.4
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